UGC NET 2022 COMPARATIVE STUDY OF RELIGIONS

Topic:- 062_UGCNET_SEPT22_S2_PartA

1) The Book " The Idea of Holy" is written by

' g 3msfSn 3ifw Bichl ' spoer @ WRRIr T :
[Question ID = 610][Question Description = 101_83_CSR_SEP22_S4_Q01]
1. Max Weber

fiaa daz

[Option ID = 2437]
2. E. B. Tylor

$dt. eserr

[Option ID = 2438]
3. Rudolf otto

HSICW 3NET

[Option ID = 2439]
4. Paul Tillich

et Rfera
[Option ID = 2440]

2) Anthropological study of religion is concerned with -
eaf @ oIl 316t fordatifena A At 3 :

[Question ID = 611][Question Description = 102_83_CSR_SEP22_54_Q02]
1. Metaphysical issues
3ifer - giiferes forer

[Option ID = 2441]
2. Axiology of religion
et b fc=r-aftarian

[Option ID = 2442]
3. Origin of religion
el I 359

[Option ID = 2443]
4. Human phenomena
Flordier uf¥ercatr

[Option ID = 2444]

3) The Statement , " religion is an individual expression of feeling of absolute dependence” is given by
" et guf forsfzar &t sraen 6 afte sifircfts 3 " A8 Becl $ADI 3 ¢

[Question ID = 612][Question Description = 103_83_CSR_SEP22_S54_Q03]
1. William James

faferer St

[Option ID = 2445]
2. Carl Gustav Jung

el sFed ot

[Option ID = 2446]
3. Frieduirh Schleitmacher

B sTem AdCHRaG

[Option ID = 2447]
4. Rudolf Otto

HSIcW 3NEl



[Option ID = 2448]

4) The word "dharma" is derived from this language:
‘e’ orec bl seufel $91 MW A 38 3 ¢

[Question ID = 613][Question Description = 104_83_CSR_SEP22_S4_Q04]
1. Arabic

st

[Option ID = 2449]
2. Punjabi

Gotrelt

[Option ID = 2450]
3. Sanskrit

AT

[Option ID = 2451]
4. Hindi

&t
[Option ID = 2452]

5) Metaphysics is a branch of:

dcadfiaian forseifeilaa 3 A sadt omzar 3 :
[Question ID = 614][Question Description = 105_83_CSR_SEP22_S4_QO05]
1. Sociology

SAHTSIN]

[Option ID = 2453]
2. Psychology

FHollfrsiror

[Option ID = 2454]
3. History

sfeBrRl

[Option ID = 2455]
4. Philosophy

Golal

[Option ID = 2456]

6) The Greek term meaning - " all god" is related with:
[Question ID = 615][Question Description = 106_83_CSR_SEP22_S4_Q06]
1. Pantheism

AT A6

[Option ID = 2457]
2. Monotheism

UDAAIG

[Option ID = 2458]
3. Polytheism

SIOIDAIAISG

[Option ID = 2459]
4. Naturalism

yapferarg
[Option ID = 2460]

7) The comparative method that seeks to describe religion as manifestation of sacred is known as -
as qelolicard faf?r fSrat sn9r epf 1 RS IR B eRFIIel TASU B BU I Bl 3, DSl S :



[Question ID = 616][Question Description = 107_83_CSR_SEP22_S4_QO07]
1. Theology
eraforrae]

[Option ID = 2461]
2. Sociology
SAAGINR]

[Option ID = 2462]
3. Study of religion
13t DI 31eRRI

[Option ID = 2463]
4. Phenomenology of religion
et 1 ufdacol frsiror

[Option ID = 2464]

8) The latin word "anima” means:
cifest oreg ' uforam ' 3 3ifdga 3 :

[Question ID = 617][Question Description = 108_83_CSR_SEP22_S4_Q08]
1. Animal

gyl

[Option ID = 2465]
2. Spirit

Sicie

[Option ID = 2466]
3. Atama

3IIcd

[Option ID = 2467]
4. God

az
[Option ID = 2468]

9) The concept "epoche” is related with:
[Question ID = 618][Question Description = 109_83_CSR_SEP22_S4_Q09]

1. Sociological theory

JSINRT Rigia

[Option ID = 2469]
2. Phenomenological theory

uf¥aesn Rrgia

[Option ID = 2470]
3. Psychological theory

Feldsiiors RBrgia

[Option ID = 2471]
4. Philosophy of religion

et Gofor
[Option ID = 2472]

10) The Author of the "Origin of Species” is:

' 3iif¥fSrot sifw Fiofist ' @ crad 3 :
[Question ID = 619][Question Description = 110_83_CSR_SEP22_54_Q10]
1. Charles Darwin

arc3ft sifder

[Option ID = 2473]
2. E. B. Tylor



$dt. errer

[Option ID = 2474]
3. F. Max Muller

. ATA PR

[Option ID = 2475]
4. Victor Turner

fareres cote

[Option ID = 2476]

11) The concept of "Hermenuetical circle" is given by:
" oy A " (omrguel Waizm ga) i saemvn forsifea 3 A sAD FRI & o B :

[Question ID = 620][Question Description = 111_83_CSR_SEP22_54_Q11]
1. Rudolf Otto

Bslc 3lEY

[Option ID = 2477]
2. Sqgren Kierkegaard

31 fbpars

[Option ID = 2478]
3. Friedrich Schleiermacher

@ Rsepadsoriiare

[Option ID = 2479]
4. Mircea Eliade

ARk ORRIR
[Option ID = 2480]

12) The Book, "Patterns in Comparative Religion" is written by:
" Ucod sof WA Riftrsier " spoer @ WRRIar 3 :

[Question ID = 621][Question Description = 112_83_CSR_SEP22_S54_Q12]
1. Emile Durkheim

sarsel gRda

[Option ID = 2481]
2. Mircea Eliade

a3k eferrs

[Option ID = 2482]
3. James G. Frazen

ST Sff. ®STet

[Option ID = 2483]
4. Levi-strauss

At - w2t
[Option ID = 2484]

13) The earliest religious literature is:

Iz enfdfes Afdca gredioraan 3 -

[Question ID = 622][Question Description = 113_83_CSR_SEP22_S4_Q13]
1. Jaina Agamas

Slol 31wt

[Option ID = 2485]
2. Vedas

dg

[Option ID = 2486]
3. Tripitakas



fefie

[Option ID = 2487]
4. Guru Granth Sahib

3> oY Az
[Option ID = 2488]

14) Muslim ruler Dara Shikoh has translated this literature in Persian-

AR I SIRIFIDIE of BIHl 1uT 3 51 WfIT BT 3igars v er-

[Question ID = 623][Question Description = 114_83_CSR_SEP22_S4_Q14]

1. Purana
GRIUT

[Option ID = 2489]
2. Sanskrit Epics

DA HBIPIRT

[Option ID = 2490]
3. Smrti

Fafer

[Option ID = 2491]
4. Upanisad
3uforug,

[Option ID = 2492]

15) Patanjali is a writer of the text-

' udsifer ' 531 sfg & Tl 3 -

[Question ID = 624][Question Description = 115_83_CSR_SEP22_S4_Q15]

1. Kalpasitra

I C lml

[Option ID = 2493]
2. Yogasutra

AOREL

[Option ID = 2494]
3. Tattvarthasitra

dearelg

[Option ID = 2495]
4. Vipaksutra

ferarepye

[Option ID = 2496]

16) Sankaradeva was main preacher of vaisnava-devotion in
9BId 5 &I D Jovrasfth B YA IUSI® A-

[Question ID = 625][Question Description = 116_83_CSR_SEP22_S4_Q16]

1. South India

Sigror amer

[Option ID = 2497]
2. Gujrat

SGRI

[Option ID = 2498]
3. Punjab

ol

[Option ID = 2499]
4. Asam



SR_AA

[Option ID = 2500]

17) Identify the Aghati Karma : -
srarfer wat T usarel HIifse :-

[Question ID = 626][Question Description = 117_83_CSR_SEP22_S4_Q17]
1. Jnanavarana
SIToIId20T

[Option ID = 2501]
2. Dar$anavarana
Golarraur

[Option ID = 2502]
3. Vedaniya
Agofter

[Option ID = 2503]
4. Mohaniya
Fsoiler

[Option ID = 2504]

18) 'Abhaya’ is included in this following group of Jain Principle:-
' 331 ' Sl e B Rigloa & s w3g A Afdafera 3 -

[Question ID = 627][Question Description = 118_83_CSR_SEP22_S4_Q18]
1. Six substances

T8 oI

[Option ID = 2505]
2. Seven fundamentals

2AId dcd

[Option ID = 2506]
3. Triratna

feReat

[Option ID = 2507]
4. Four kinds of charity

AR YDR D Glol
[Option ID = 2508]

19) This statement is not correct among the following statements according to Jainism:-
il et @ SIoRIR foraifeiRaa wereil i A a6 wereT A8l ol 3 : -

[Question ID = 628][Question Description = 119_83_CSR_SEP22_S4_Q19]
1. Neminatha was 22"d Tirthankara

oifdtomrer 224 ctefpe &

[Option ID = 2509]
2. Loka (word) is created by God

cllp (feq) &I ol a2 gRI &8 8

[Option ID = 2510]
3. Kundakunda has been composed by Pravacanasara

BGBS of YaderIR &I o Ht 3

[Option ID = 2511]
4. 'Adharma’ substance is the medium of rest

‘3repf goar Rerfer 3t BRI Arerel 3
[Option ID = 2512]

20) This one of the following is NOT correctly matched.

Identify:-



forgoiferfR3aa 3 A s o1 ool A8 o1 3 usafo :-

[Question ID = 629][Question Description = 120_83_CSR_SEP22_S4_Q20]
1. Jain Monks - Minor vows
SloT 9O -3

[Option ID = 2513]
2. Lord Mahavira - King Siddharth
$IeTdIol ABIAIT - el Rrgret

[Option ID = 2514]

3. Kundakunda - Samayasara
[Option ID = 2515]

4. Acaranga Sutra - Prakrit
SIRIRIGT Yc], - I
[Option ID = 2516]

21) In 6th CE who became the founder of Zen (Buddhism) meditation sect, his name is :

Bl 9IAreSt i Siol dlg &AT6l AYGRI I Sl Yacid §31T AT , 33T oIl & -

[Question ID = 630][Question Description = 121_83_CSR_SEP22_54_Q21]
1. Buddhapalita

ggurferd

[Option ID = 2517]
2. Bodhidharma

difererst

[Option ID = 2518]
3. Sthiramati

Rerafer

[Option ID = 2519]
4. Bhavaviveka

ITafId®

[Option ID = 2520]

22) The 'Philosophical ideas of Buddha's in essence is ascribed to which of the following :
gg D cffore Rider o1 AFacer Fz=a FU A IRA & -

[Question ID = 631][Question Description = 122_83_CSR_SEP22_S54_Q22]
1. Suttapitaka

Fafted

[Option ID = 2521]
2. Vinayapitaka

forifticd

[Option ID = 2522]
3. Dhammapitaka

egdIficd

[Option ID = 2523]
4. Abhidhammpitaka

sifdrerFarficd

[Option ID = 2524]

23) Which one popular philosophy is extended by the help of kings and monks in abroad:
Dlol-AT TAT clIDIA colol 3 Sl SIS TR 318131l & HsAIeT A ¢G9Il 3 BellRI SRII -

[Question ID = 632][Question Description = 123_83_CSR_SEP22_54_Q23]
1. Nyaya



o%IIRT

[Option ID = 2525]
2. Bauddha
dlg

[Option ID = 2526]
3. Vedanta

Agia

[Option ID = 2527]
4. Samkhya

AR

[Option ID = 2528]

24) The second name of Pratityasamutpada is :

YellRIRIgAUIG DT g1 olld AB 3 -

[Question ID = 633][Question Description = 124_83_CSR_SEP22_54_Q24]
1. Anityavada
siforeerarg

[Option ID = 2529]
2. Anitya- sasvatavada
SiforcIomeandrG

[Option ID = 2530]
3. Majjhimapatipada
JifSs1a ufeust

[Option ID = 2531]
4. Anatmavada
SIGIICaTarg

[Option ID = 2532]

25) Paul (Saul) was sent to Jerusalem to be educated under Gamaliel who was great successor of this leader:

dic (313e) 3idAfereet A 13181 g1 2ol B foru Sisactd o6l 3RI A |, SiI 3ol P YgRa @ Helol SRIFSIPRI ot

[Question ID = 634][Question Description = 125_83_CSR_SEP22_S54_Q25]
1. Sadducees

it

[Option ID = 2533]
2. Hillel

ek

[Option ID = 2534]
3. Pharisees

B3R

[Option ID = 2535]
4. Essenes

eazita:
[Option ID = 2536]

26) Upon the destructions of Jerusalem, the Sanhedrin moved to this place where its sessions were held most of the time:
SIBACTH D £ D dIG AoldfCal T FATeT U= el 31U S6f UR ol AAifra arR if2raoret irilfsra fipu 1w : -

[Question ID = 635][Question Description = 126_83_CSR_SEP22_54_Q26]
1. Bethlehem

Jercied

[Option ID = 2537]
2. Samaria

AR

[Option ID = 2538]



3. Jamnia
SIEIfoRT

[Option ID = 2539]
4. Antioch

uftceiiaa
[Option ID = 2540]

27) Moses Ben Menahem Mendel (1729-1786), is counted by the Jews as -

agfcll CRI FAT1 ol AordleA Avset (1729 - 1786) w1 $3 35U # SI6Il SIIAT 3 :-

[Question ID = 636][Question Description = 127_83_CSR_SEP22_54_Q27]
1. Law giver

fafer forarter

[Option ID = 2541]
2. Warrior

gt

[Option ID = 2542]
3. Moses the Emancipator

FA-FepoTar

[Option ID = 2543]
4. Orator

Tgaept
[Option ID = 2544]

28) The immediate forerunner of Jesus Christ is this person:

sotdl A $A1 IRAls D AB-JSld ydomad A:

[Question ID = 637][Question Description = 128_83_CSR_SEP22_54_Q28]
1. Moses

R

[Option ID = 2545]
2. Abraham

Siglad

[Option ID = 2546]
3. Daniel

Sforoet

[Option ID = 2547]
4. John the Baptist

Sifol & Aftese
[Option ID = 2548]

29) The Hebrew name of St. Paul was this:
soldl A Il dier @I 3¢ ol ar :
[Question ID = 638][Question Description = 129_83_CSR_SEP22_54_Q29]
1. Saul
231

[Option ID = 2549]
2. Peter

vicea

[Option ID = 2550]
3. Andrew

o5y



[Option ID = 2551]
4. Simon

Rialtor
[Option ID = 2552]

30) St. Paul was born in this place in Cilicia
Juc dicl T Stodt Ricli¥3Rn @ $31 eIl u? gam ar -

[Question ID = 639][Question Description = 130_83_CSR_SEP22_S4_Q30]
1. Rome
Aot

[Option ID = 2553]
2. Cordova
@fstar

[Option ID = 2554]
3. Tarsus
erbx

[Option ID = 2555]
4. Barcelona
srf3fciton

[Option ID = 2556]

31) Saul was sent to Jerusalem to be educated under this teacher:
A3 forFoiferRaa g1 19181 3 91811 3JEUT Dol &q SIBACHA 9ISl 318 AL

[Question ID = 640][Question Description = 131_83_CSR_SEP22_S4_Q31]
1. John the Baptist

Sifol @ Aufee

[Option ID = 2557]
2. Gamaliel

SpeIfeToe

[Option ID = 2558]
3. Michael

sl

[Option ID = 2559]
4. Aaron

3ifMer
[Option ID = 2560]

32) 'The Second Moses' this appellation is generally attributed to this person:
' feiia 31 ' Dl usdl A AU 37 =Aftp oI fayfta fooar sr 3 &

[Question ID = 641][Question Description = 132_83_CSR_SEP22_S4_Q32]
1. Maimonides

TSNS

[Option ID = 2561]
2. Moses the lawgiver

a1 - faferforartar

[Option ID = 2562]
3. Moses Mendelssohn

AT AUScr=ifol

[Option ID = 2563]
4. Gregor Mendel

)itz Avset
[Option ID = 2564]

33) This was the year of the Hijra or the Prophet's migration from Mecca to Yathrib:



forrarferRaa & A1 331 ad 3 3eRT srerar UeFar AT6d DI AGDI A A Bl 3R Yadel (eR=Iel) 30T ©

[Question ID = 642][Question Description = 133_83_CSR_SEP22_54_Q33]
1. 622. CE

[Option ID = 2565]
2. 625. CE

[Option ID = 2566]
3. 632.CE

[Option ID = 2567]
4. 623.CE

[Option ID = 2568]

34) The Kutub- al- sittah containing collection of hadith is a group of these books:

a<ter &b Jsfe archt @ad - areT - Riars saet sl arer v 3E 3 ©

[Question ID = 643][Question Description = 134_83_CSR_SEP22_54_Q34]
1. 4 (Four)

(4) ar

[Option ID = 2569]
2. 5 (Five)

(5) ufa

[Option ID = 2570]
3. 7 (Seven)

(7) v

[Option ID = 2571]
4. 6 (Six)

(6) &8
[Option ID = 2572]

35) In the isra part of the night Journey, the Prophet travelled on the back of this animal:
31efl Al AT D A arcl HPT A USFR ATEd of 33 Sl Dl Ulo uR Jom2 ATy YT foper : -

[Question ID = 644][Question Description = 135_83_CSR_SEP22_S54_Q35]
1. Bagarah

dD2A

[Option ID = 2573]
2. AL Fil.

3ret. fibet.

[Option ID = 2574]
3. Burak.

RAD

[Option ID = 2575]
4. Al Namal.

3IcT olldcT

[Option ID = 2576]

36) The Holy Quran consisted of :
ufere w1t 3 sdol 331 B Afafera fRpwar srn 3 :-

[Question ID = 645][Question Description = 136_83_CSR_SEP22_54_Q36]
1. 112- Surahs.

12 - 31

[Option ID = 2577]
2. 116-Surahs



116 - 31

[Option ID = 2578]
. 114-Surahs
114 - 3
[Option ID = 2579]
115-Surahs
115 - 3

[Option ID = 2580]

37) Number of Rags in Guru Granth is:
3% 3jer 3 I Y AT seefl B ¢
[Question ID = 646][Question Description = 137_83_CSR_SEP22_54_Q37]

1.

15

[Option ID = 2581]
22

[Option ID = 2582]
. 30

[Option ID = 2583]
.31

[Option ID = 2584]

38) Bani is Raga Jai-Jaiwanti is written by:

3BT SRI-SRIdocdl 3 SfecalRad amft s grr forsdl o 2 ¢

[Question ID = 647][Question Description = 138_83_CSR_SEP22_54_Q38]

1.

Guru Ramdas
3% AACRI

[Option ID = 2585]
. Guru Arjun Dev

= 3afol

[Option ID = 2586]
. Guru Amardas

3% 3PRGRL

[Option ID = 2587]

4. Guru Tegh Bahadur

3% AIIEIG
[Option ID = 2588]

39) Author of 'Shabadarth Guru Granth Sahib’ is :

forgotferi¥aa 3 A 'orecrel 3FHojer ANMBH' B TRAD AT 3 :

1.

[Question ID = 648][Question Description = 139_83_CSR_SEP22_54_Q39]
Bhai Veer Singh

oiré itz Bis
[Option ID = 2589]

2. Teja Singh

er Ris
[Option ID = 2590]

3. Puran Singh

Yol RBis
[Option ID = 2591]

4. Sahib Singh

afEa Ris
[Option ID = 2592]



40) The Kamagatamaru tragedy occured at :
PIAPICIARS JRIGH I Tcel A6l U= afed g3 3 :

[Question ID = 649][Question Description = 140_83_CSR_SEP22_54_Q40]
1. Bajj Bajj Ghat

&l d91 dIc

[Option ID = 2593]
2. Neel Nadi Ghat

offet aIct @re

[Option ID = 2594]
3. Sarsa Nadi Ghat

AT GIdt &I

[Option ID = 2595]
4. Satluj Ghat

2AdcTal dIc
[Option ID = 2596]
41) Main features of civil religions are :
A. Belief in magic
B. Belief in one God
C. Belief in Totem
D. Belief in scripture

E. Belief in the existence of God

oIy (Riferer) et &t e fadraams 3 :
A. TErceR 3 frart

B. v $vaz & frara

C. 2R ¥ frar

D. epfsjer 3 frarr

E. $oaz & aif¥aca 9 feary

il f3u a1e fyaseul 9 A W& 3= goi ¢

[Question ID = 650][Question Description = 141_83_CSR_SEP22_S4_Q41]
1. A, BandConly

Dac A, B iz C

[Option ID = 2597]
2. B, CandD only

@aet B, C gz D

[Option ID = 2598]
3. B,DandE only

@aet B, D iz E

[Option ID = 2599]
4. C,DandE only

@act C, D 3k E

[Option ID = 2600]
42) ldentify the scholars of Phenomenology of religion:
A. Immanuel Kant
B. Mircea Eliade

C. G Van Der Leeuw



D. Sigmund Frued
E. W. B. Kristensen

Choose the correct answer from the options given below:

' epl @ JAgfomRY | ® Rigmell ! usaifom :
A. sdicgue wic

B. si¥fm uferes

C. sft dict 32 o1g

D. Brdis Girs

E. secy &t fpzodter

oA Ry s1e Riescdl # A & a2 o ¢

[Question ID = 651][Question Description = 142_83_CSR_SEP22_S4_Q42]
1. A, Cand D only.

daca A, C sz D

[Option ID = 2601]
2. B, Cand D only.

daer B, C aiie D

[Option ID = 2602]
3. C,DandE only.

@act C, D3R E

[Option ID = 2603]
4. B, CandE only

@qet B, C 3k E
[Option ID = 2604]
43) Among the following which are features of modern society?
A. Manaism
B. Differentiation
C. Animism
D. Rationalism
E. Secularism

Choose the correct answer from the options given below:

forgoiferRaa 3 3 smegfora TSt bl Biot Al fadruar & ?
A. Yaarc

B. faore

C. Sfigare

D. gfgarc

E. J#ycrIarc

il fou s1u fyeseul 3 2 & Fa= goi ¢

[Question ID = 652][Question Description = 143_83_CSR_SEP22_54_Q43]
1. A, Band C only.

@ael A, B 3z C

[Option ID = 2605]
2. C, D andE only.



@act C, D sl E

[Option ID = 2606]
3. B, Cand D only.

@ael B, C 3ik D

[Option ID = 2607]
4. A, Cand D only

@dact A, C3ik D
[Option ID = 2608]
44) ldentify the main features of primitive religion:
A. Belief in animism
B. Belief in One God
C. Belief in magic
D. Belief in spirits
E. Belief in scriptures

Choose the correct answer from the options given below:

snfeent &t F1 fRroradrnsil o usaifort :
A. Siiaarg 3 fereary

B. g $vaz & farara

C. TarcoR # Rreart

D. 9y - ga 3 fRreart

E. erfofel 3 forart

il fou o1 fraseul 3 3 & Fa= goi ¢

[Question ID = 653][Question Description = 144_83_CSR_SEP22_54_Q44]
1. B, Cand D only.

Dact B, C 3z D

[Option ID = 2609]
2. A, CandE only.

Ddact A, C 3 E

[Option ID = 2610]
3. C, DandE only.

Ddact C, D sl E

[Option ID = 2611]
4. A, Cand D only.

@act A, C 3l D
[Option ID = 2612]
45) The term "Religions Wissensschaft" is translated as:
A. Theology
B. Comparative study of religions
C. History of religions
D. Philosophy of religions
E. Science of religions

Choose the correct answer from the options given below:



ug " fecilsia fadleadive " @1 sofare 3 :
A. etorzq

B. el oI qetolicared ¢RI

C. &@t @1 sicera

D. et @1 gefaromy

E. enf o1 fasme

it fou o1 frpeul 9 21 & 3a= goi ¢

[Question ID = 654][Question Description = 145_83_CSR_SEP22_S4_Q45]
1. A, B and C only.

daer A, B aiz C

[Option ID = 2613]
2. B, Cand E only.

daer B, C ai E

[Option ID = 2614]
3. C,DandE only

@act C, D sl E

[Option ID = 2615]
4. B, D and E only

@qct B, D3R E
[Option ID = 2616]
46) ldentify the correct combination among the following:
A. Zendavesta - Judaism
B. Trinity - Christianity
C. Khalsa - Sikhism
D. Uttara Mimamsa - Jainism
E. Nirvana - Buddhism

Choose the correct answer from the options given below:

forgatferiRaa 3 A 181 oA e DI ufdarer HifSe :
A. Siesdze - Jefeaa

B. fefforfer - Samsara

C. warerT - RBrasa

D. Saeafieria - StoEra

E. forafur - digaa

ofla fou o1 fyaseul 3 21 & Fa= goi ¢

[Question ID = 655][Question Description = 146_83_CSR_SEP22_S54_Q46]
1. A, Cand D only.

Dact A, C iz D

[Option ID = 2617]
2. B, Cand E only.

Ddact B, C ik E

[Option ID = 2618]
3. C, DandE only.



@act C, DR E

[Option ID = 2619]
4. A, D and E only.

daer A, D aiie E
[Option ID = 2620]

47) Among the following, identify holy scriptures:
A. Hebrew Bible

B. Shri Gurshoba

C. Quran

D. New Testament

E. Shri Dasham Granth

Choose the correct answer from the options given below:

forgarfeiRaa 3 A1 uferq episfelil oI usaifore:
A. 3y srsfe

B. oft speitan

C. @RIt

D. 5y e¥emic

E. off comt s

oif<l feu are faeal 3 A A3l = ol ¢

[Question ID = 656][Question Description = 147_83_CSR_SEP22_54_Q47]
1. A, Band E only.

dact A, B3R E

[Option ID = 2621]
2. A, Cand D only.

Dact A, C iz D

[Option ID = 2622]
3. B, Cand E only.

Ddact B, C 3 E

[Option ID = 2623]
4. A, Cand E only.

Ddact A, C 3R E

[Option ID = 2624]

48) Find out the correct combinations

A. Religion is non- rational phenomenon - Rudolf Otto

B. Religion is rational phenomenon - Immanuel Kant

C. Religion is unified system of beliefs and practices - Emile Durkheim
D. Religion is belief in Totem - Martin Buber

E. The Protestent Ethics and the spirit of Capitalism - Max Weber

Choose the correct answer from the options given below:

I8l Jgod WIPg Dl usdrel HIfS :
A. et Sraifdse gua 3 - F3Iew gl
B. et aifde yua 3 - sdelsic dic



C. enf fraril 3iiz gl & vofoa wrazren 3 - sarsa gxdfar
D. ept Cledlt ur frart war 3 - mider g

E. Qe et & siftrar 3k gellare &t w6 - daa da=

ofi fou a1 el 3 2 A8t Sz gt ¢

[Question ID = 657][Question Description = 148_83_CSR_SEP22_S4_Q48]

1. A, Cand D only.
Dact A, C iz D

[Option ID = 2625]
2. B, Cand E only.

Ddact B, C ik E

[Option ID = 2626]
3. B, Cand D only.

@dact B, C sfiz D

[Option ID = 2627]
4. A, Cand E only.

et A, C ol E
[Option ID = 2628]

49) Read the following statements

A. The Bhagawatapurana is related to Vaishnavism.

B. Mahakavi Tulsidasa was strong opponent of Idol worship.

C. The Tantraloka text was written on 11th century C.E.

D. Ishvarachandra Vidyasagar was founder of Brahmasamaja.
E. Sayanacarya has written commentary only on the Rgaveda.

Choose the correct answer from the options given below:

foremfciRaa aerer @l ue

A. ¥OTaIYRIvI Jourd A A AR

B. swiofa derficr gfelgs o gerer faRiel o

C. dqrcii sfeer &t o 114 orarst & 8 3

D. JeREIS @ IAFeausd g RERIPR &

E. SRRt of dac hodc U HIe forar 3

ofid fou s1u fwedl & A AT ST IR BT TRl DI ¢

[Question ID = 658][Question Description = 149_83_CSR_SEP22_54_Q49]
1. B, D and E only.

Dact B, D sz E

[Option ID = 2629]
2. C, Eand A only.

Dact A, C3ic E

[Option ID = 2630]
3. A, Cand D only.

dact A, C iz D

[Option ID = 2631]
4. D, B and C only.

@dqct B, C 3k D



[Option ID = 2632]

50) Read the following statements

A. 'ekam’sadvipra bahudha vadanti' this line is found in the Rgaveda.”

B. Total nine qualities are accepted in Vaisesika system.

C. The existence of God is established in Nyaya system.

D. Philosopher Ramanuja born in 1427 C.E.

E. Meaning of the word 'Rat’ is the arrangement of the universe, referred in Vedic literature.

Choose the correct answer from the options given below:

forraifeiRaa wersil @ ufee aiiz -

A. ' v Afeyr ggen acfod ' As ditp >pedc 3 grd aicll 3
B. 91t gofer & et it aur Ffipa 3

C. =arIcfer & $rar @ sif¥aca ot Rig fopwn sri 3

D. croffore Ieelst @1 Steat 1427 €. 3 g or

E. dfdwanfdca dt ' sba ' @i sref 3 - Serq b =raven
ofi fou a1 el 3 2 8t STz gl ¢

[Question ID = 659][Question Description = 150_83_CSR_SEP22_S4_Q50]

1. B, Cand D only.
dact B, C sz D

[Option ID = 2633]
2. C,DandE only.

daa C, D siz E

[Option ID = 2634]
3. D, Eand A only.

@act A, D sz E

[Option ID = 2635]
4. A, Cand E only

dact A, C 3R E
[Option ID = 2636]

51) Read the following statements:

A. Prarthanasamaja was founded in Bengal.

B. Agnipurana is treated as encyclopedia of culture.

C. The principle of 'Jivana-mukti' is not accepted in Vedanta system.
D. Mahatma Gandhi has writtern 'Young India’ book in 1928 CE.

Choose the correct answer from the options given below:

forraiferRaa werell @t ufgu :

A. yreloIaarst &1 Fenuelr €ome 3 g3 oft

B. srf3orgRIvT FFpict o1 faeawmlIer AreH ST 3

C. qgia 3 Sflaeigfte @1 Rigia diod o&l

D. #arcan aiielt of o1 1928 . 3 “=ior i3’ yraow ferxdl off
il fou s1u fyeseul 3 2 & 3a= goi ¢



[Question ID = 660][Question Description = 151_83_CSR_SEP22_S4_Q51]
1. Aand D only

@act A siik D

[Option ID = 2637]
2. BandConly

Dact B aiiz C

[Option ID = 2638]
3. Cand D only

@act C 3z D

[Option ID = 2639]
4. Band D only

dact B 3iiz D

[Option ID = 2640]

52) Read the following :

A. Digamber Sect- Mula Sangha

B. Tattvartha Sutra- Prakrit text

C. Ellora- Centre of Jain manuscripts

D. Acarya Nanesa- Jain Acarya of Sthanakavasi (Murtipujaka)
D. Charity- A kind of Three Jeweles

Choose the correct answer from the options given below:

forgotferfaa @t ufsu :

A. ferFr AYGHI - Feria

B. dcarel 3¢ - grapd oA

C. ©ell - Stor uigferftril @1 Hsarert

D. 3Rt siroler - Fereioaril Sieirr! (Jfigst)
E. SIol - ol I b A5

il fou s1e fraseul 9 31 & 3a= goi ¢

[Question ID = 661][Question Description = 152_83_CSR_SEP22_S4_Q52]

1. Aand Conly
Dact A iz C

[Option ID = 2641]
2. BandD only

Dact B sfiz D

[Option ID = 2642]
3. DandE only

Dact D 3z E

[Option ID = 2643]
4. Aand D only

Dact A iz D
[Option ID = 2644]
53) Read the following Statements:
A. Tirthankara Parsvanatha attained the 'Nirvana'at Glranar Jain teertha.
B. 'Anekantavada’ is the main theory of Jainism.
C. 'Samivara' is included in the Seven fundamentals in Jainism.
D

. 'Bhagavaf’ is the third Jain Anga Agama.



E. Acarya Gunadhara is the author of Kasayapahuda.

Choose the correct answer from the options given below:

forgotifepa werl o ufsu :

A. iefpz urdetrer of Breir Siordlef 2 'forafer’ gra fipen
B. 'srorosiaaic’ Siotersf o1 gga Rigia &

C. Storerst 3 "FHa?' wI1a dacal 3 Afdafera 3

D. 'spras’ et Sial 301 311 3o 3

E. 3Rt spuierR ®wHRUgs @ Fldar 3

ofid fou a1 el 3 A A8 IR ot ¢

[Question ID = 662][Question Description = 153_83_CSR_SEP22_S4_Q53]
1. A, Cand D only

daca A, C siz D

[Option ID = 2645]
2. B, Cand E only

daer B, C aie E

[Option ID = 2646]
3. B, Dand E only

@act B, D 3l E

[Option ID = 2647]
4. A, D andE only

Dact A, D sz E
[Option ID = 2648]

54) The Nirvana is fruit of:

A. Freedom from the Klesavarana and Jﬁeya’varan@
B. Freedom from the trasna and Bhava

C. Freedom from the Jati and Marana

D. Freedom from the work-binding

E. Attainment of prosperity.

Choose the correct answer from the options given below:

foratur sa1m1 utyerma 8 -

A. TCIeIdRUT Ud SRIRUI A JiRD

B. qoum wd sia A P

C. Sea-3rv1 A JRp

D. wdfecerct A FRp

E. zgfy B gifx

il fou s1e fraseul 9 31 & 3a= goi ¢

[Question ID = 663][Question Description = 154_83_CSR_SEP22_S4_Q54]
1. Aand B only

Dact A iz B

[Option ID = 2649]



2. A, BandConly
dact A, B siiz C

[Option ID = 2650]
3. B, Cand D only

et B, C 3k D

[Option ID = 2651]
4. A, BandE only

@act A, B iz E
[Option ID = 2652]

55) Which texts are counted in Mahayana literature:
A. Paramartha Saptati

B. Cullavagga

C. Bodhicaryavatara

D. Yogacarabhumi Sastra

E. Buddhvamsa

Choose the correct answer from the options given below:

3 el IBRI6l A3 3 Brolt st 3 :
A. uzamel Fafer
B. geerassr
C. diftcrfaar
D. ApmemRyfromy
E. ggda
offa fou s1u fyeseul 3 21 & 3a= goi ¢
[Question ID = 664][Question Description = 155_83_CSR_SEP22_S54_Q55]
1. Aand B only
@act A sik B

[Option ID = 2653]
2. BandConly

@act B ik C

[Option ID = 2654]
3. A, Cand D only

Dact A, C 3z D

[Option ID = 2655]
4. CandE only

dact C 3z E

[Option ID = 2656]

56) These texts are written by Asvaghosa:
A. Danakatha

B. Sariputraprakarana

C. Saundarananda

D. Arya Maitreya sadhana

E. Buddhacarita

Choose the correct answer from the options given below:



areqEy &bl e A 3 -
A. crormen

B. onf¥yquas=ur
C. JHlogstog
D. 3rf JRIRATEreT
E. ggata
il 3w o1 et 3 A & 3= goi ¢
[Question ID = 665][Question Description = 156_83_CSR_SEP22_S4_Q56]
1. B, Cand E only
@act B, C alz E

[Option ID = 2657]
2. B, Cand D only

daer B, C aiie D

[Option ID = 2658]
3. C,DandE only

@act C, D sl E

[Option ID = 2659]
4. Aand E only

Dact A 3iz E
[Option ID = 2660]

57) Identity the main Christian churches:
A. Orthodox

B. Kabbala
C. Protestant
D. Ziomists
E. Catholic

Choose the correct answer from the options given below:

$arg et @ RBIeERI @ Ricsifdca HifSte -
A. siferfstaar
B. @earet

C. Qe
D. Rriiforre
E. denfers
il fou s1u fyeseul 3 21 & Fa= goi ¢
[Question ID = 666][Question Description = 157_83_CSR_SEP22_54_Q57]
1. A, Cand E only
@act A, C 3z E

[Option ID = 2661]
2. B, Cand D only

Dact B, C 3z D

[Option ID = 2662]
3. C,DandE only

Ddact C, D sl E

[Option ID = 2663]
4. A, D and E only

Ddact A, D ik E



[Option ID = 2664]

58) Identify the festivals of Jews:
A. Holi

B. Dussehra

C. Bakrida

D. Harvest Festival

E. Festival of Unleavened bread

Choose the correct answer from the options given below:

iRl @ wierRl @l Rissifea Hifsme :
A. 3rcht

B. gersa

C. silc

D. ardve BReaa

E. dzfk A& @1 iR

ofi fou a1 el 3 A A8t STz gt ¢

[Question ID = 667][Question Description = 158_83_CSR_SEP22_S4_Q58]

1. Aand B only
et A 3l B

[Option ID = 2665]
2. BandConly

@Dact B sz C

[Option ID = 2666]
3. Aand Conly

@act A sk C

[Option ID = 2667]
4. DandE only

et D iz E
[Option ID = 2668]
59) Talmud consists of these main strata:
A. Epistles
B. Gospels
C. Mishna
D. Revelation
E. Gemara

Choose the correct answer from the options given below:

Toars i g A R Alafera 3 :
A. efug

B. $anf enf Rigia (sifder)

C. firan

D. w=igIce

E. Sorr



il féu a1e fraseul 9 A W& 3= goi ¢

[Question ID = 668][Question Description = 159_83_CSR_SEP22_S4_Q59]

1. Aand B only
et A 3k B

[Option ID = 2669]
2. BandConly

@Dact B sfiz C

[Option ID = 2670]
3. Cand E only

@ac C sk E

[Option ID = 2671]
4. DandE only

@act D iz E
[Option ID = 2672]

60) Identify the Europeon Christian Missionaries to India
A. Hermann Gundert

B. Benehamain Bailey

C. David Livingston

D. Tailhard Chardin

E. Albert Einstein

Choose the correct answer from the options given below:

HRd 3 Rrera RIUR $aré Biercifeil @l Rissifdoa Hifsie
A. 3ot 3fecs

B. dosfiror et

C. 3fas fafdizrcot

D. eerss @ifder

E. sreeaé smsedtar

offa fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 669][Question Description = 160_83_CSR_SEP22_54_Q60]
1. Aand B only

@act A 3iiz B

[Option ID = 2673]
2. CandD only

dact C 3z D

[Option ID = 2674]
3. DandE only

dact D 3z E

[Option ID = 2675]
4. Band Conly

Dact B sz C

[Option ID = 2676]

61) ldentity the Indian Christian Saints from these

A. St. Thomas Aquines



B. St. Augustine

C. St. Kuriakos Chavara
D. St. Alphanso

E. St. Bernard

Choose the correct answer from the options given below:

forgatifepa 3 31 sRedRI S 2idl @ Ricsifea HifSte :
A. e eiiar eirasa

B. 3c siferersol

C. 3 QORI arRT

D. 3ic wewiar

E. Jc gafs

oilY feu a1v faeeal 3 A Al Ia= goi ¢

[Question ID = 670][Question Description = 161_83_CSR_SEP22_S54_Q61]
1. Aand B only

@act A ik B

[Option ID = 2677]
2. BandConly

@act B aie C

[Option ID = 2678]
3. Cand D only

@aet C 3k D

[Option ID = 2679]
4. D andE only

et D ik E

[Option ID = 2680]
62) Read the following statements

A. Kaba was built by Prophet Abraham and Ishmael

B. Salat, Zakat, Hajj, Saum, Tawhid are the five pillars of Islam
C. Sir Syed wrote Asbab e Bagawat e - Hind
D. Ziyarat means Pligrimage
E. Dhimmi reffered as Muslim

Choose the correct answer from the options given below:

forraifeiRada wereil Y ufge

A. 1a1 o1 forrior Terear grad 3R s3AEd SRI o sRi

B. 31c1q, Stopre; &1, did, didlc sl @ uida 3dM 8

C. 313 IS o 3AAId - § - Salrad - § - {85 oltaad Yzam bl ol o off
D. fSrma 31 smoRT dielmar 2 3

E. f2rasft Faacmmet & w4 3 Sirol S

offar fow are freeul 3t 2 A3t 302 ol :

[Question ID = 671][Question Description = 162_83_CSR_SEP22_54_Q62]
1. B, Cand E only
@dact B, C 3k E

[Option ID = 2681]



2. A, BandConly
Dact A, B siiz C

[Option ID = 2682]
3. A, CandD only
Ddact A, C 3iiz D

[Option ID = 2683]
4. B, D and E only
@act B, D 3l E

[Option ID = 2684]

63) Read the following statements:

A. Prophet Muhammad belonged to the Quraysh tribe.

B. Qutabuddin Bakhtiar Kaki was the disciple of Baba Farid.
C. Imam Ghazali belonged to the Hanfi school

D. Ibn Tamiyah Influenced the Wahhabi movement

E. Ibn Hazam was the proponet of Zahiri school in Morocco

Choose the correct answer from the options given below:

forgaifeiRaa werer @l ufeu :

A. e Peaac w0l wodicl A Addfra &

B. magdicr afRsrr orbl daampsic & forsr
C. saa srsircil sorbl - ol A dfera &

D. soot a3 of garel sticiciel I Yenfad s e
E. sco1 3oId ARam) & Snfst aa & yfiarcs o
il fou s1e freseul 9 2 & Ia= goi ¢

[Question ID = 672][Question Description = 163_83_CSR_SEP22_S4_Q63]
1. A, Cand D only

dact A, C iz D

[Option ID = 2685]
2. A, Band D only

Dact A, B sie D

[Option ID = 2686]
3. B, Cand E only

dact B, C iz E

[Option ID = 2687]
4. A, Cand E only

dact A, Calz E
[Option ID = 2688]
64) Interfaith dialogue is:
A. To mantain intolerance for other’s religions.
B. For reasoning based Debate.
C. To know the differences and similarities among the religions.
D. To make arguments on mutual understanding.
E. To develop communal harmony.

Choose the correct answer from the options given below:

3fod: &Rt Jarg @1 YRS & -



A. s gdt @ forg srAfdvugdr @l SolIg 3xT6ll
B. a5 smenfya arc - foarc

C. &3t @ e 3ieRl wd AATSIAISI P STreToll
D. urzuf¥® AT B LR UR T8 Dol

E. aiyeiRe Agracn faaRia wwen
il féu a1e fraseul 9 A W& 3a= goi ¢

[Question ID = 673][Question Description = 164_83_CSR_SEP22_S4_Q64]

1. A, Band Conly
Dact A, B siiz C

[Option ID = 2689]
2. A, DandE only

Ddact A, D sir E

[Option ID = 2690]
3. B, Cand E only

e B, C ol E

[Option ID = 2691]
4. B, D and E only

Baa B, D sz E
[Option ID = 2692]

65) Teaching of Guru Granth Sahib are:

A. The Unity of God.

B. Fear and Frighten

C. Sweetness of words and humbleness in conduct equality in man and woman relation.
D. Truth is higher but higher not the truthful living.

Choose the correct answer from the options given below:

JpBojer A3 b1 foremy 3 :

A. a3 o1 W@

B. srr 3117 SRz ol

C. awft 3 Rrort vd =Iasr 3 Rewgar

D. sifacis gt & et

E. s1ca rdiet 3 ciftbol AR Sfidot $3R1 3dd oidl &

ofid feu are frpeal 3 21 181 3a= gol :

[Question ID = 674][Question Description = 165_83_CSR_SEP22_54_Q65]

1. A, Cand E only
@dact A, C iz E

[Option ID = 2693]
2. B, Cand D only
@act B, C aiiz D

[Option ID = 2694]
3. A, Cand D only
@act A, C iz D

[Option ID = 2695]
4. A, Cand E only
dac A, C siR E

[Option ID = 2696]



66) Match List | with List Il

List | List Il

Concept Thinker

A. Animism I. Emile Dunkheim
B. Magic Il. Rudolf Otto

C. Totem Ill. James Frazen
D. Idea of Holy IV. E. B. Tylor

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

RIedl -1 (3raemRum) =Rt -1l (Riaw)
A. Stiarcaare |. sarsc gfowaa
B. sirg, Il. 3lcw 3NEl
C. deca 1ll. St B
D. smsf3=n 3ifw Bcil IV. §. di. erIerr

offd fSu sru fapeul 3 A At IR gfer:

[Question ID = 675][Question Description = 166_83_CSR_SEP22_S54_Q66]
1. A-IV,B-1lll,C-1,D-1

[Option ID = 2697]
2. A-IV,B-1Il,C-1I,D-I

[Option ID = 2698]
3. A-1,B-1I,C-IV,D- 1l

[Option ID = 2699]
4. A-1l,B-1Il,C-1,D-1IV

[Option ID = 2700]

67) Match List | with List Il
List |

IAuthor

A. James G. Frazen

List Il
Book
I. Introduction to the science of Religion

B. F. Max Muller

Il. The Golden Bough

C. Friedrich Nietzsche

lll. Beyond Good and Evil

D. Paul Tillich

IV. Dynamics of faith

Choose the correct answer from the options given below:

et -l oot 3Eh -1l A Fgafera HifSre :

el -1 (@raww) et -1l (grao)

A. 13T Sit. |. sqIsaerel ¢ g AEA 3iiB
(B33 ¥ ferstor

B. o, AT et

TR

C. Bsimforc |lll. fr=s 915 Us $faa

D. dict fafera IV, srronfia sites wer

off< feu ore fpeal 3 A 38l 3R gfore :

[Question ID = 676][Question Description = 167_83_CSR_SEP22_54_Q67]
1. A-1,B-1I,C-1V,D-1

[Option ID = 2701]
2. A-1l,B-1,C-1Il,D-IV

[Option ID = 2702]
3. A-NLB-1L,C-1V,D-I

[Option ID = 2703]
4. A-1,B-1,C-1IV,D-1l



[Option ID = 2704]

68) Match List | with List Il

List | List Il

Thinker Concept

A. Rudolf Otto I. Sacred and Profane
B. J. G. Frozen Il. Wholly other

C. Emile Durkheim Ill. King of the Wood
D. Paul Tillich IV. Dynamics of Faith

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

Rrht -1 (Riqep) oyt -1l (3raem=om)

A. B3Iew 3iigt ||, afer siie srafeg

B. oL oft. B3tz |Il. Sufy FAgeadar (3rch 316)
C. ofdrcht gRdar |l fver siiw © g3

D. dfe fefera IV. srrenfia=t 3ife B
ofid fou o1 faweal & A w8 I gfore ¢

[Question ID = 677][Question Description = 168_83_CSR_SEP22_S4_Q68]
1. A-,B-UI,C-Il,D-1IV

[Option ID = 2705]
2. A-1,B-1V,C-1I,D- 1l

[Option ID = 2706]
3. A-1L,B-1I,C-1,D-1IV

[Option ID = 2707]
4. A-11,B-1,C-IV,D- Il

[Option ID = 2708]

69) Match List | with List Il

List | List Il

A. Mahabharata I. Sri Aurobindo

B. Tantraloka Il. Mahatma Gandhi

C. The life of divinelll. Krisnadvaipayana Vedvyas
D. Young India |IV. Abhinava Gupta

Choose the correct answer from the options given below:

et -1 B e -1l A g Hife

et -1 Rzl -1l

A. FHEHRA I. off 3rfdc

B. dqrciia 1. Jrercam siieht

C. ¢ cIIsw it lll. DUIEURIel deIT
Sarsor

D. o1 33 IV. sifdtora s

oifa feu oru faedl 9 A A8 3R gforu :

[Question ID = 678][Question Description = 169_83_CSR_SEP22_S4_Q69]
1. A-1,B-IV,C-1ll,D-1l

[Option ID = 2709]
2. A-1,B-1,C-1V,D- 1l

[Option ID = 2710]
3. A-IV,B-1I,C-1I,D-1

[Option ID = 2711]
4. A-11,B-1V,C-1,D-1I



[Option ID = 2712]

70) Match List | with List I

List | List Il

A. Anga Agama |. Kundagrama
B. Rsabha Deva Il. Anuvrata
C. Mahavira Ill. Bhagavai
D. Aparigraha IV. Astapada

Choose the correct answer from the options given below:

el -1 @ 3 -1l 3 Jafera bifSie

Rreht -1 ozt -1l

A. 3ieT - 31P1H |. Bsoqa
B. spuM ¢a 1. sworga
C. ssrd Ill. spras
D. smuaf¥ss IV. 3rscug

oifY feu aru famedl 3 A 8 3R gforu :

[Question ID = 679][Question Description = 170_83_CSR_SEP22_S4_Q70]
1. A-1I,B-IV,C-1I,D-1

[Option ID = 2713]
2. A-ULB-IV,C-1,D-1I

[Option ID = 2714]
3. A-1,B-IV,C-1,D-1ll

[Option ID = 2715]
4. A-11,B-1,C-IV,D- Il

[Option ID = 2716]

71) Match List | with List Il

List Il
I. Bhumi

List |
A. Pranidhana

B. Gandavyuha

Il. Paramita

C. Divyavadana

lll. Vaipulya sutra

D. Durangama

IV. Avadana

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

Rt -1 =t -1l

A. gfdremst I. sifdr

B. sroswis Il. urfirar
C. fCcaracrer 1ll. dycerge
D. g¥gomem IV. sracror

offcl feu oru fpedl 3 A 38l 3R gfore :

[Question ID = 680][Question Description = 171_83_CSR_SEP22_54_Q71]
1. A-,B-Il,C-1I,D-1IV

[Option ID = 2717]
2. A-IV,B-1,C-1l,D- 1l

[Option ID = 2718]
3. A-1L,B-1LC-1V,D-I

[Option ID = 2719]
4. A-1I,B-IV,C-1,D-1I



[Option ID = 2720]

72) Match List | with List Il

List | List Il

IA. Moses I. Judges

B. David 1. Ecclesiasticus
C. Sirach 1ll. Psalms

D. Samson |IV. Torah

Choose the correct answer from the options given below:

et -1 1 3 -l A AR Bifde :

et -1 et -1
A, 3T |. GerrRmefior

B. 3fas Il. caaiRrnfewa
C. Bria 1. sme1

D. o101 IV. drrs

ofia 3 a0 faraseul 3 21 A8l Iaz gfee :

[Question ID = 681][Question Description = 172_83_CSR_SEP22_S4_Q72]

A-1,B-1I,C-1ll, D - IV [Option ID = 2721]
Il, B-1Il, C-1V, D - | [Option ID = 2722]

A W N -

A -
A-1ll,B-1V, C-1,D - Il [Option ID = 2723]
A -

73) Match List | with List Il

IV, B -Ill, C-1lI, D - | [Option ID = 2724]

List |

List Il

IA. Ecumenical first Council at Constantinoplel. Convened by Justinian

B. Ecumenical Council at Ephesus

Il. Convened by Constantine

C. 2nd Ecumenical Council at Constantinople|lll. Convened by Theodosius |

D. Ecumenical Council at Nicaea

IV. Convened by Theodosius Il

Choose the correct answer from the options given below:

el -1 @ 3 -1l 3 Jafera bifSie

Rt -1 et -1l

A. srdaforr i gemr sil3aer o<t uftug ||, sREfRISI GRr RIS fépar siom
B. w3t 3 sif3ger o< ufvug Il. @icxdersol grI JAMMSTIa

C. o¥daforn 3 fgedkn siaer o<t uftag |l RRISIBRRI yaa grr Ad:—0f5m
D. airsfiren 3 sifRaer o ufvug IV. RRISIRRRI || grr Fifsra

oifY feu oru famedl 3 A 8 3R gforu :

[Question ID = 682][Question Description = 173_83_CSR_SEP22_S4_Q73]

1. A-1I,B-IV,C-1,D-1l

[Option ID = 2725]
2. A-1,B-I,C-1I,D-1IV

[Option ID = 2726]
3. A-1L,B-1I,C-1V,D-I

[Option ID = 2727]
4. A-1IL,B-1V,C-11,D-1

[Option ID = 2728]

74) Match List | with List I

List | List Il

IA. Abu Bakr I. Sidq (Truth)
B. Umar Il. Bravery

C. Ali Ill. Haya

D. Uthman IV. Adl (Justice)

Choose the correct answer from the options given below:




et -1 1 3 -l A AT Bifde :

Rxeh -1 il

A, 31 - g, |. g (31c1)
B. 3= Il. se1gst

C. archt 1. s

D. 3emime |IV. 3rgel (IRI)

it f3u a1e faasedl 3 2 A8 3az gfere :

[Question ID = 683][Question Description = 174_83_CSR_SEP22_S54_Q74]
A-1l,B-1V,C-1l,D-1[Option ID = 2729]
A-1V,B-1l,C-1,D-1ll [Option ID = 2730]
A-1V,B-1ll, C-1l,D- 1| [Option ID = 2731]
A-1,B-1V,C-1l,D-lll [Option ID = 2732]

A W N -

75) Match List | with List Il

List | List Il

A. Vismadi Poonji I. Harinder Singh Mehboob
B. Sahje Rachio Khalsa Il. Bhai Kanh Singh Nabha
C. Gursabad Ratnakar Mahankosh |[lll. Bhai Randhir Singh

D. Jail Chitthian IV. Dr Gurbhagat Singh

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera HifSre :

oxeh - | oxet -1

A. frrardt gsht . sf¥ce Riz Asga

B. 1&st RN Frer Il. s wIos Ris oirsr
C. 3R A€ IoID ABIGIDIT Ill. s1r$ Jvreliz Ris
D. S fafgar IV. s10 38 Ris

il fou a1 fyseul 3 A A8 IR gfom ©

[Question ID = 684][Question Description = 175_83_CSR_SEP22_S4_Q75]
1. A-1Il,B-1,C-1V,D-1

[Option ID = 2733]
2. A-1ILB-1,C-1V,D-Il

[Option ID = 2734]
3. A-Il,B-I,C-1I,D-1IV

[Option ID = 2735]
4. A-IV,B-1,C-1I,D-1ll

[Option ID = 2736]
76) On the basis of theory of James G. Frazer find out the sequence in the evolution of religion.
A. Monotheism
B. Polytheism
C. Magic
D. Religion
E. Science

Choose the correct answer from the options given below:

QI3 Sfl. B Rigia @ snear wr epf & fEeRT oI sigad sia oifsie
A. udorazac
B. soidvararc



C. sig,

D. et

E. fasior

off<r fou a1 ferapeul 3 31 A8} 32 gof :

[Question ID = 685][Question Description = 176_83_CSR_SEP22_S4_Q76]
1. A,B,D,C, E

[Option ID = 2737]
2. A,C,B,D,E

[Option ID = 2738]
3. B,ACD,E

[Option ID = 2739]
4. C,B,AD,E

[Option ID = 2740]

77) Find out correct chronological sequence from to origin the scriptures given below.
A. Qur'an

B. Rigveda

C. New Testament

D. Hebrew Bible

E. Guru Granth Sahib

Choose the correct answer from the options given below:

oA R 219 efojel @t A& Icufil ety 3 caaf¥era Hife
A. o=

B. spordc

C. &g e3aiic

D. 3y srfsa

E. 31 sfpa afdq

il fou s1u fyeseul 3 2 & 3= goi ¢

[Question ID = 686][Question Description = 177_83_CSR_SEP22_54_Q77]
1. A,C,D,B, E

[Option ID = 2741]
2. D,C, A B, E

[Option ID = 2742]
3.B,D,CAE

[Option ID = 2743]
4. C,D, A, B, E

[Option ID = 2744]

78) ldentify correct chronological sequence earliest to later
A. Worship of ancestors

B. Worship of spirits

C. Death of God

D. Worship of God



E. Worship of many Gods

Choose the correct answer from the options given below:

1391 A 3iferr A8 drerapa o) sraf¥ea Hifse
A. gdsil &1 3urtenn

B. sftarcasii &1 urtelr

C. dm bl gy

D. $eaz &1 Iurten

E. sroto ¢di &1 Surtelr

ofia 3w s1e frascul 3 2 A7) 3@= gol :

[Question ID = 687][Question Description = 178_83_CSR_SEP22_S4_Q78]
1. C, B, A, D, E [Option ID = 2745]
2. B, A, D, C, E [Option ID = 2746]
3. A, B, E, D, C [Option ID = 2747]
4. A, C, D, E, B [Option ID = 2748]

y Yy

y & Uy

79) Arrange the following chronological from later to earliest -
A. Mahabharata

B. Vedantasara
C. Geeta-Rahasya
D. Rigveda

E. Manusmrti

Choose the correct answer from the options given below:

forgotiferd Bl BIcIpIIRIR 3ifeer A gepr &I 3k wralied Hifsw -
A. sBBIRa

B. dgida1r

C. sflarsza

D. sporag

E. Ioafa
i) feu oru fameal 3 A A8 IR ol :

[Question ID = 688][Question Description = 179_83_CSR_SEP22_S54_Q79]
1. B,A,D,E, C

[Option ID = 2749]
2. E,C,B, D, E

[Option ID = 2750]
3. C,B,E, A D

[Option ID = 2751]
4. D,E, A C, B

[Option ID = 2752]

80) Arrange the following Tirthankara in chronological orders (Later to earlier period)
A. Rsabhadeva

B. Neminatha

C. Santinatha

D. Mahavira



E. Parsvanatha

Choose the correct answer from the options given below:

forgoiferRaa diefmr] oI PITRAGRIR =Ial¥erd @3 -
A. spEsca

B. sifdromrer

C. griferetrer

D. weriR

E. uredemer

oifY feu a1v faeeal 3 A A Ia= ol ¢

[Question ID = 689][Question Description = 180_83_CSR_SEP22_54_Q80]
1. D,B,E,C, A

[Option ID = 2753]
2. D,EB,C, A

[Option ID = 2754]
3. B,C, A D,E

[Option ID = 2755]
4. C,D,E,AB

[Option ID = 2756]

81) Arrange the following philosophical systems chronologically from earlier to later
A. Vaibhasika

B. Yogacara

C. Vibhajyavada

D. Sautrantika

E. Sunyavada

Choose the correct answer from the options given below:

forgatferRaa croffores arepl B BICTHATRIR RIS A 95 D B I 3 -
A. dsnfrs

B. Apmar

C. fRrsrag

D. diqfesas

E. oforrarg

offcl feu sru frpedl 3 2 Al = goi ¢

[Question ID = 690][Question Description = 181_83_CSR_SEP22_S4_Q81]

1. A,D,E B, C

[Option ID = 2757]
2. C,AD,E B

[Option ID = 2758]
3. D,E B, C A

[Option ID = 2759]



4. E,B,C, A D
[Option ID = 2760]

82) Arraange the following events chronologically from earliest to later
A. Babylonian Exile

B. Kingdom of Judah

C. Moses leads Israelites out of Egypt
D. Abraham comes to Palastine

E. Noah's Ark

Choose the correct answer from the options given below:

forgatferRaa #rcatnsii o yreflol A 3ol @ BITRAIGRIR GoT 3 RAaf¥erda Hifsre
A. afyeiiforms foraferer

B. 5él omrior

C. B A Al & fordzrer d sz @t Sigea

il feu aru fareeal 3 A A Ia= gol ¢

[Question ID = 691][Question Description = 182_83_CSR_SEP22_S4_Q82]
1. A,B,C,D, E

[Option ID = 2761]
2. B,C,D,AE

[Option ID = 2762]
3.C,D,EAB

[Option ID = 2763]
4. E,D,C, B, A

[Option ID = 2764]
83) Arrange the following books chronologically from earliest to later
A. Malachi
B. St Mathew
C. Isaiah
D. St. Marks
E. St. John

Choose the correct answer from the options given below:

forFeife1Rad sfell ®Y JoTd BITRAHIGRAR &I A RIafierd Hifsre
A. szt

B. e diex.

C. s3r=mn

D. 3Jic ara=f

E. 3le Sifor

il fou a1e farpeal 3 3 18 3= ol :

[Question ID = 692][Question Description = 183_83_CSR_SEP22_S54_Q83]
1. A, B, C, D, E [Option ID = 2765]



2. B, C, D, E, A [Option ID = 2766]
3. C, A, D, B, E [Option ID = 2767]
4. D, E, A, B, C [Option ID = 2768]

» Ry

84) Arrange the following events related to Islam chronologically from earliest to later.
A. Hejira

B. Assasinnation of Ali

C. Conquering of Egypt by othmonturks
D. Fall of Fatimate caliphate

E. Death of Prophet Muhammad

Choose the correct answer from the options given below:

secnd A AafiEa forarfeiRaa acsinsil ol Yreileldadt A el @ DI BAHGRIR 91 A Ialyed Hifsr :
A. f&srar

B. 3reil 1 e

C. 3iiciorat crp grRI Ry &l fafSia wzon

D. wrfere FelivT @1 udel

E. Sorar gasc bl g

offa fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 693][Question Description = 184_83_CSR_SEP22_54_Q84]
1. B,D,E, C, A

[Option ID = 2769]
2. D,AC, B, E

[Option ID = 2770]
3. A EB,D,C

[Option ID = 2771]
4. C,B,D,E, A

[Option ID = 2772]
85) Arrange the following events chronologically from later to earlier :
A. Guru Gaddi to Granth Sahib
B. Birth of Guru Gobind Singh
C. Martydom of Guru Teg Bahadur
D. Creation of Khalsa
E. Death of Baba Banda Bahadur

Choose the correct answer from the options given below:

forgsiferRaa @ Iarmict A yd ®Icl @ PIIRAHRIR RIai¥ed bifSe
A. sjar mf3q ot 3% 3l Sl

B. 313 siifereg iz @1 Siod

C. 35 I gaIg? &Y 9rIcd

D. wrcrm &t Femuonn

E. arar et dgrg2 bl #eg

ofi fou o1 el 3 A A8t Sz gt ¢



[Question ID = 694][Question Description = 185_83_CSR_SEP22_S4_Q85]
1. D,B, A, C E

[Option ID = 2773]
2. B,C,D,AE

[Option ID = 2774]
3. C,D,A B, E

[Option ID = 2775]
4. E,A,D,C, B

[Option ID = 2776]

86) Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : In the process of secularization religion gradually loses its influence over various spheres of social life.
Reason (R) : 'Secularization' is a process that creates the sense of equality among the religions.

In light of the above statements, choose the correct answer from the options given below:

il 31 perel fRu e 3 1w bl sifdrperet (A) 3R g @l ao (R) @sl srn 8

sifSrperat (A) : der forrugiar o1 gfipen 3 e o1 yera or6k: orol ATHIRIS Sfiaet @ fafdteor &g A @c s 3
aa® (R) : "vaforugrar” v Yad 3 RRIS Berasu fafieo epil & #eA JATCIAT BT HId 3cUodl Il &
IWRITD DUl D 3MIcllD 3 forgatifdpa faraeul 3 A 181 342 gol :

[Question ID = 695][Question Description = 186_83_CSR_SEP22_54_Q86]

1. Both (A) and (R) are true and (R) is the correct explanation of (A).
(A) aiiz (R) Sieil 21t 2 3l (R), (A) & 34 careeen 3

[Option ID = 2777]
2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
(A) siiz (R) cloll 31t 8 udsg (R), (A) & 3 wmeen ot 8

[Option ID = 2778]
3. (A)is true but (R) is false.
(A) 38t 8 wog (R) 1@t o1dl &

[Option ID = 2779]
4. (A) is false but (R) is true.
(A) & ol 3 ueog (R) 2@ &

[Option ID = 2780]

87) Given below are two statements:
Statement I: Myth is puzzle story.

Statement II: Myth is something through that a story about it is told.

In light of the above statements, choose the most appropriate answer from the options given below:

off<l Gl @erel Ru s 3 :

@l - | : ¥31erd v udell 3

@erot - || : fireres dwer-drcel o1 Ud AL 3

IWRfTD el B il 3 FratfeRad Rracul i A A8l 3a= ol :

[Question ID = 696][Question Description = 187_83_CSR_SEP22_S4_Q87]
1. Both Statement | and Statement Il are correct.
Dol | 3R || Sreil 318t &

[Option ID = 2781]
2. Both Statement | and Statement Il are incorrect.
@erol | 32 | Slail st &

[Option ID = 2782]
3. Statement | is correct but Statement Il is incorrect.
el | 3 &, fopog et |l e 2 |



[Option ID = 2783]
4. Statement | is incorrect but Statement Il is correct.
@efol | 3RIT 3, fboq el | a1 3

[Option ID = 2784]

88) Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A): According to Jainism the "Ratri Bhojana Viramana Vows" is closely related to Ahimsa.
Reason (R): Avagraha, [ha, Avaya, Dharana- it is a strating as sequence of knowledge in Jainism.

In light of the above statements, choose the most appropriate answer from the options given below:

il €1 perol fu aw 31 ues @i sifdrperet (A) 3l @R @1 aa (R) oar srn 3
aifdrpeet (A) : Siotest o selAR "Afeiisiol fiRAvT ga * T 31fd=1r A aforse JFdeT 3
awm (R) : s@asg, €31, @RI, ENRVI - AE Siel Bl UD YRIND-DH &

IR Pl D 3HIcliD A forvotifcpa fameal 3 A At IR ol ©

[Question ID = 697][Question Description = 188_83_CSR_SEP22_S4_Q88]
1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

(A) iz (R) Qoit 21t & iz (R), (A) B 31 e 3

[Option ID = 2785]
2. Both (A) and (R) are correct and (R) is NOT the correct explanation of (A).

(A) 3iiz (R) Gl 218t 8 weog (R), (A) & 1t =me=n ot 8

[Option ID = 2786]
3. (A)is correct but (R) is not correct.

(A) 3 3 uzoq (R) it ot &

[Option ID = 2787]
4. (A)is not correct but (R) is correct.

(A) = ot & weog (R) =t &
[Option ID = 2788]

89) Given below are two statements:
Statement I: The rabbis who formulated the traditions of the mishnah are called Tanaim or “repeaters".

Statement Il: The rabbis who contributed to the traditions of the Gamara are called Amoraim or "sayers".

In light of the above statements, choose the correct answer from the options given below:

il &1 werer Ru are 3 :

Bl - | : Jeard Rrealol fiRIols & RuRI @1 IJgurd s, d dola srerar YoRIgier doldre! waelld &
ool - || : Tearg Rioalol SRt &1 uuRt 3 AeIcrel &=, d MR ferdr ' dell dRIs dacid &
SRI Dl @ srclie 3 forerfeiRaa faeul 3 1 18l 3= gt ¢

[Question ID = 698][Question Description = 189_83_CSR_SEP22_54_Q89]
1. Both Statement | and Statement Il are true.

@erol | 3z || Sl a1dt &

[Option ID = 2789]
2. Both Statement | and Statement Il are false.

@erol | 3z | Slail areta &

[Option ID = 2790]
3. Statement | is true but Statement Il is false.

@l | A1 8, f[poqg et |l s1er 3 |



[Option ID = 2791]
4. Statement | is false but Statement Il is true.

el | sRic 8, fpog et | 38t 8
[Option ID = 2792]

90) Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A): The main Ideal of every sufi school has been to attain that perfection which Jesus Christ has taught in the
Bible.

Reason (R): Sufi movement is creating understanding among individuals, nation and race.

In light of the above statements, choose the most appropriate answer from the options given below:

il &1 erol fu aw 31 v @l sifdrpere (A) 3l g @1 aa (R) @ar sk 3

sffrperet (A) @ yrd® FbI AYGRT BT FIRT 329U YUiar B Y Boll 26T 3 , PrIw! $a1 afis of asad 3 scoa fovar 3
daas (R) : bl sricicrol cafepal, Ucg Od ofrel @ HeA AAS faplRa @2 a1 8

IR Pl D 3UTeliD A forvotifcpa fameal 3 A A8t IR ol ¢

[Question ID = 699][Question Description = 190_83_CSR_SEP22_S54_Q90]
1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

(A) aiiz (R) Sieil 21t 2 3l (R), (A) & 3 wareen 3
[Option ID = 2793]

2. Both (A) and (R) are correct and (R) is not the correct explanation of (A).
(A) 3z (R) Sxeit a1t 3 wzog (R), (A) bt At wemaee ot &
[Option ID = 2794]

3. (A)is correct but (R) is not correct.

(A) & 8 wog (R) &t ot &
[Option ID = 2795]

4. (A)is not correct but (R) is correct.

(A) 21t otél 8 weog (R) 2wt &
[Option ID = 2796]

Topic:- 062_UGCNET_SEPT22_S2_PartB

1) Read the following paragraph and give answers to related questions.

The subject of the Bhagvadgita entails the comprehension of five basic truths. First of all, the science of God is explained
and then the constitutional position of the living entities, jivas. There is iSvara, which means the controller and there are
jivas, the living entities which are controlled. If a living entity says that he is not controlled but that he is free then he is
inane. The living being is controlled in every respect, at least in his conditioned life. So, in the Bhagvad-gita the subject
matter deals with fSvara, the supreme controller, and the jiva, the controlled living entities. Prakriti (material nature) and
time (the duration of the existance of the whole universe or the manifestation of material nature) and Karma (activity) are
also discussed. The cosmic manifestation is full of different activites.

forgotfcii3ad 3rofcedc @ SR Yssll I 3 Sifsre

so1ad ofid1 1 faerr ufa genia Al @ ufsiiol A Ada 3 A« usc $2ar fdsiel bl carean & o1 8 3iik flbe Perya Asita dedl bl sitdl

& rasnfaes Rrefer of T 3 asf R $oar Fa®T foriqe 3 3k Sfia aenr ashia doa $ear A HBrifta 1A 3 afe Sifaa aca a6 o8 6 sa Saz A
forifefe o8t 3, Faciq 3 dl Sfid oI Uz 3isiol 3 Sfid 32 a6 A URACHI D foriqur i &, fANuDm2 3AD Shdoimrca A 33 YoIR sfiar T fawer
g foriqes $ar, sfia ik Sfifaa acdl @ ddfera 3 gofer (siifere daca) siiv o ( 399l gemvs @ sif¥daea &l srafr aen genvs o

sifdrcafen) aer wdf (fgme) oft sfiar 3 ARG T gomvs 6t aifircafes gof U A fafSicor fpzmait A 418 &5 3

The subject-matter of the Bhagvadgita deals with



o1 Siiar @I farer1 sap! frdaet war 3 :-

[Question ID = 700][Question Description = 191_83_CSR_SEP22_S4_Q91]

1. Five Anuvratas

e 3

[Option ID = 2797]
2. Five states

ufq ygor

[Option ID = 2798]
3. Five basic truths

uifer FeTafcT AT

[Option ID = 2799]
4. Five prominent kings

Ui ggRa AT

[Option ID = 2800]

2) Read the following paragraph and give answers to related questions.

The subject of the Bhagvadgita entails the comprehension of five basic truths. First of all, the science of God is explained
and then the constitutional position of the living entities, jivas. There is Svara, which means the controller and there are
jivas, the living entities which are controlled. If a living entity says that he is not controlled but that he is free then he is
inane. The living being is controlled in every respect, at least in his conditioned life. So, in the Bhagvad-gita the subject
matter deals with fSvara, the supreme controller, and the jiva, the controlled living entities. Prakriti (material nature) and
time (the duration of the existance of the whole universe or the manifestation of material nature) and Karma (activity) are
also discussed. The cosmic manifestation is full of different activites.

forgotfcii¥ad 3iofesdc @ SIIRAR Ysall I 3R Sifste

ao1ad ofia1 o1 faerr ufa genga Al @ ufsiol A Adlla 3 A« usd $ar fdsiel bl carean & o1 8 3iik b Perya Asita dedl bl sitdl
b1 Fasnfae Rrefer oI fadact 2 asi uz $2az AawmI oriqae 3 3z Slia aen Jsia dea $az A Grifta ala & afe Shfaa aca ac @8 o sa Saz A
forifege o8t 3, Faciq 3 Al Sfid @1 s 3isiol 3 Sfid 32 e A URAICHT D foriqur i 3, fAAu®m? 3AD Shidoimica d 53 YoR afidr o1 faerr

g foriqe $ar, Sfia ik Sfifaa acdl @ idfea 3 gopfe (siifere daca) siik o ( 39gvi gemvs o sif¥ea &l s aen genvs &
siftrcafen) den @ (Rgmd) off ofiar 3 AR & genus &t siftreafts guf u A fafteor fRpmsi 21 st 58 3

According to Bhagvadgita the living entities, jivas are controlled by-

IPMASIAT D 3IGIRIR S @ Isila dedl oI foriqe® 3 -

[Question ID = 701][Question Description = 192_83_CSR_SEP22_S4_Q92]
1. [Bvara

Saz

[Option ID = 2801]
2. Karma

ot

[Option ID = 2802]
3. Prominent administrators

U 9IRID

[Option ID = 2803]
4. Prakriti

gapfer
[Option ID = 2804]

3) Read the following paragraph and give answers to related questions.

The subject of the Bhagvadgita entails the comprehension of five basic truths. First of all, the science of God is explained
and then the constitutional position of the living entities, jivas. There is iSvara, which means the controller and there are



jivas, the living entities which are controlled. If a living entity says that he is not controlled but that he is free then he is
inane. The living being is controlled in every respect, at least in his conditioned life. So, in the Bhagvad-gita the subject
matter deals with Svara, the supreme controller, and the jiva, the controlled living entities. Prakriti (material nature) and
time (the duration of the existance of the whole universe or the manifestation of material nature) and Karma (activity) are
also discussed. The cosmic manifestation is full of different activites.

forgaifeiRaa siocdc @ SIGRIR gesll oI IR dIfSre

spIad Sffar o1 ferr ufa Jenia A D af¥sre A Adfa 3 AR! usd ar [sia & e & o 8 i b2 Jenia sha dacal & sfial
&1 rasnfae Rrafer oI fdaear 3 asf R $2ar Ja®T foriqe 3 3 Sfia aer asha dca $ear A Frifda a1a 3 afe shfaa aca a6 o &6 sa Saz A
forifea o8t 3, adq & al Siila oI UG 3IsIel 3 Sl &2 A% A UACHT D foriqur 3 3, fA9um? 3Ad Shdoimra d 531 YoR siiar o1 faerr

g foriqes $ar, Sfia ik Sfifaa aral @ dfea 3 gapfe (siifares aca) siik o ( 199t gemvs @ sif¥daea &l s aen genvs &
stfdreafen) aen @t (Rpzmg) off ofiar 3 AR 3 gevs & sifircafes guf $u A faficor Rpzmair A s 58 3

According to the Bhagvadgita, if a living entity says that he is not controlled by anybody, he is free then his this thinking is-
IPIAGIAT D 3RIR A Iftp A 6 a6 Fadq 3 , e A Forige ol , a1 ¥s 3 caftp o1 3-
[Question ID = 702][Question Description = 193_83_CSR_SEP22_S4_Q93]

1. Knowledge

Sllol

[Option ID = 2805]
2. Ego

3EDPR

[Option ID = 2806]
3. Belief

feearat

[Option ID = 2807]
4. Ignorance

3leIlol

[Option ID = 2808]

4) Read the following paragraph and give answers to related questions.

The subject of the Bhagvadgita entails the comprehension of five basic truths. First of all, the science of God is explained
and then the constitutional position of the living entities, jivas. There is iSvara, which means the controller and there are
jivas, the living entities which are controlled. If a living entity says that he is not controlled but that he is free then he is
inane. The living being is controlled in every respect, at least in his conditioned life. So, in the Bhagvad-gita the subject
matter deals with fSvara, the supreme controller, and the jiva, the controlled living entities. Prakriti (material nature) and
time (the duration of the existance of the whole universe or the manifestation of material nature) and Karma (activity) are
also discussed. The cosmic manifestation is full of different activites.

forgatfciiRad 3ielesdc @ SIIRAR Yssll I 3R Sifste

#o1ad Sfidl ol faerr ufa gerga Al @ ufsiol A Adla 3 A usd $ar fdsiel bl carean & o1 8 3z b Jerya Asita dedl bl sitdl
&I Fasufae Rerfer of fdas 8 ast uz $2az @1 foriqo 2 3iiz sha aen Asia dca $ewaz A BRI ald 3 afS sifaa aca a6 o8 6 s Paz A
forifege o8t 3, Faciq 3 Al Sfid @1 Uz 3isiol 3 Sfid 32 de A URAIcHT D foriqur & 3, fAdu®m? 3AD Shidormia d 53 YR afiar o1 faerr

g oriqe $4ar, Sfia ik Sfifaa acal @ idféa 3 gopfe (siifere daca) siik o ( 199l gemvs @ sil¥ea &l saf¥n aen genvs &
siftreafen) den @ (Romd) off ofiar 3 AR & genus &t siftrcafts guf u A fafteor fRpmsir 21 st 58 3

Given below are two statements:
Statement I: According to the paragraph, ISvara is the controller of the universe.

Statement Il: According to the paragraph it is not correct that worldy jivas are free and they are not controlled by God.

In light of the above statements, choose the most appropriate answer from the options given below:

ofla <Y aeret feu s1e 3 ¢



@l - | : 3eIBde D ARIR %R SPI @I foriq® 3
ool - | @ 3iofcdc @ SRR AHA Sfia @t A6 Aol Al 3 b a8 Fdqa 3, $az A forifa ol 3
IWRYTh Decil B 3l I forrarfeiRaa fapeul 3 A 8t 3R gol :

[Question ID = 703][Question Description = 194_83_CSR_SEP22_S4_Q94]
1. Both Statement | and Statement Il are correct.

el | 3z || el 21t &

[Option ID = 2809]
2. Both Statement | and Statement Il are incorrect.

@erot | 3liz || Seil st &

[Option ID = 2810]
3. Statement | is correct but Statement Il is incorrect.

el | A4E 3, Rpog weror |l arera 3 |

[Option ID = 2811]
4. Statement | is incorrect but Statement Il is correct.

el | ot &, fpog et || 3@t &
[Option ID = 2812]

5) Read the following paragraph and give answers to related questions.

The subject of the Bhagvadgita entails the comprehension of five basic truths. First of all, the science of God is explained
and then the constitutional position of the living entities, jivas. There is iSvara, which means the controller and there are
jivas, the living entities which are controlled. If a living entity says that he is not controlled but that he is free then he is
inane. The living being is controlled in every respect, at least in his conditioned life. So, in the Bhagvad-gita the subject
matter deals with fSvara, the supreme controller, and the jiva, the controlled living entities. Prakriti (material nature) and
time (the duration of the existance of the whole universe or the manifestation of material nature) and Karma (activity) are
also discussed. The cosmic manifestation is full of different activites.

foraifeiRaa siocde @ SIGRIR gesll @I IR difSre

spIad Sffar o1 e ufa Jenia A D afsre A Adfa 3 AR! usd ar [siea & e & o 3 i 52 Ienia sha acal & sfial
&1 rasnfae Rrafer ol fdaea 3 asf R $2ar Ja@T foriqe 3 3l Ssfia aen asha dca $ear A Frifda a1a 3 afe shfaa aca a1 o &6 sa Saz A
forife o8l 3, Fadq & Al Siia o1 Az 3USI6l 3 Sid &2 A6 A UACHI D foriqur 3 3, fA9um? 3AD Shdotmra d 53 YdR siiar o1 farerr

g foriqes $4ar, Sfia ik Sfifaa aral @ dfta 3 gapf (siifare aca) siik o ( 199l gemvs @ sif¥dea &l safdn aen genvs &
sfdreafer) aen wat (fRpmg) off sfiar 3f fARM & gemvs &t sifircafts gul su A fafteor fpzmait 3 ol 5 3

Given below are two statements:
Statement I: Prakriti, time and karma are also discussed in Bhagvadgita.
Statement Il: According to the paragraph, the Brahmanda is full of different activities.

In light of the above statements, choose the correct answer from the options given below:

ofid <1 perer Ru sre 3 :

ool - | seragiar 3 yopfer, w1, o sl o & farerr 3 oft fdaor 3

@Yol - || : 3[eIcsdc B IR §EIvs oI sifidcaftn fafder faparsii T 3 535 8

SwRItD el @ el 3 RroifiRaa Racal 3 A & a2 g9t :

[Question ID = 704][Question Description = 195_83_CSR_SEP22_S4_Q95]

1. Both Statement | and Statement Il are true.

el | 32 || el 25t &

[Option ID = 2813]
2. Both Statement | and Statement Il are false.

@erot | 3liz || Seil st &



[Option ID = 2814]
3. Statement | is true but Statement Il is false.

el | 3 &, fopog et || stea 2 |

[Option ID = 2815]
4. Statement | is false but Statement Il is true.

el | 3RIc &, fpog et || ad &
[Option ID = 2816]

Topic:- 062_UGCNET_SEPT22_S2_PartC

1) Read the following paragraph and give answer to the related questions.

The Reformation was a declaration of the liberty of the individual conscience, and a shift on the basis of authority from the
church to the Bible. Martin Luther (1483-1546), the first protagonist of the Reformation, made much of the doctrine of
justification by faith. He was not a consistent theologian. Ulrich Zwingli (1484-1531), the leader of reformation in
Switzerland, departed more widely from the Latin church in thought. He revived from another point of view. Augustine's
doctrine of election. John Calvin (1509-1564), formed the most complete system of theology, going to protestantism its
fighting armour. To him as to Augustine god was an absent sovereign. He differed from Augustine in finding the will of God
expressed in the Bible rather than in the church.

forgsifeiRae srerior ool ufeu sz 3ol AHdfra yesil @ 3az difse ©

JUR 3 AP Dl HARICH DI JUIadl Ud PRSIER A YRIPR @I a5sdd d 3idid fepu Siiol dI alvvn & 318 JLUR D YU IR Yuidr, Aol
e (1483 - 1546) o1, 3nzen - Siod 3l @ Rigia o sgyail¥a fioen @ o1 adoifers  epiondl ofl & afka Kdfda (1484 -

1531) sit o5 RasRds & vas JarRard! odr 9, a6 frar! & SRR dfeel adf A 3iffrd RMud wU 3 3cET 3l 318 Joslal B sro fScmior
MifoRersd & wRIol D Rigia ol yorsiifad fisen  Sifer ifeast (1509-1564) of Qiccalfiedl @ g dad b3, erfong &i afframigut
razen foifdfa &t off Iad fere siforersa & a1 3 $waz splaR AMNIBE a1 ff ad D seIrRI asad 3 Sfealaa afla sTaT1 1 iftsa Bt
3 d Aq sifeR<Isol @ Ad A A ofdl A

The first protagonist of the Reformation was this religious leader:
HUR D YA HTRI Yuidl Soldl A & ofar & -

[Question ID = 705][Question Description = 196_83_CSR_SEP22_S54_Q96]
1. St. Thomas Aquinas

3l elfsrt uferaoifar

[Option ID = 2817]
2. St. Bernard

e goils

[Option ID = 2818]
3. Martin Luther King

el cfer fpet

[Option ID = 2819]
4. Martin Luther

#fdol cjerR
[Option ID = 2820]

2) Read the following paragraph and give answer to the related questions.

The Reformation was a declaration of the liberty of the individual conscience, and a shift on the basis of authority from the
church to the Bible. Martin Luther (1483-1546), the first protagonist of the Reformation, made much of the doctrine of
justification by faith. He was not a consistent theologian. Ulrich Zwingli (1484-1531), the leader of reformation in
Switzerland, departed more widely from the Latin church in thought. He revived from another point of view. Augustine's
doctrine of election. John Calvin (1509-1564), formed the most complete system of theology, going to protestantism its
fighting armour. To him as to Augustine god was an absent sovereign. He differed from Augustine in finding the will of God
expressed in the Bible rather than in the church.

forgotferRae sterior ol ufeu siiz IorRY Adfra gooil @ o= i :



JUR A Afep &l iR DI SuTadr vd BRSIER A YR @1 asad 3 siafea fpu siet & diuon & 5 JarR & yord I3 gulal,  arféel
Gz (1483 - 1546) a1, sirzen - siort AR & Rigia o agyaifa Roar A o1 adoilRie ewfoed) ol & safka Rl (1484 -

1531) st fop Rasiéls @ v JerRard! odr 9, a6 ARl @ SRR Aftel ol A Siffrd RIMu® U 3 31eEI 8l 318 oslel Bl 36w zfSemivr
MWiPRTEd & wRiel D Rigia o yesiifaa feenr  sifor wifeast (1509-1564) of greycarfel ol gg dad sab?, erfonzq &l aiferaigot
razen foifdfa &bl ol 3o fere siforersal @ aia I $9ar PR AR a1 off o<t D goIRT Az 3 IfeciRaa iy sTaT1 @I Sif¥isia mel
3 d i siferersel @ #Ad A AsHA oISl A

Luther made much of this doctrine of:
IR of 3 Rigia ol sgyanfea fop=r e :
[Question ID = 706][Question Description = 197_83_CSR_SEP22_54_Q97]
1. Transubstantiation
[edirericanyg
[Option ID = 2821]
2. Creation of Adam

usd &I gfte

[Option ID = 2822]
3. Faith in the deed

ot 3 fearar

[Option ID = 2823]
4. Justification by faith

I - Sfoel Sfifereer

[Option ID = 2824]

3) Read the following paragraph and give answer to the related questions.

The Reformation was a declaration of the liberty of the individual conscience, and a shift on the basis of authority from the
church to the Bible. Martin Luther (1483-1546), the first protagonist of the Reformation, made much of the doctrine of
justification by faith. He was not a consistent theologian. Ulrich Zwingli (1484-1531), the leader of reformation in
Switzerland, departed more widely from the Latin church in thought. He revived from another point of view. Augustine’s
doctrine of election. John Calvin (1509-1564), formed the most complete system of theology, going to protestantism its
fighting armour. To him as to Augustine god was an absent sovereign. He differed from Augustine in finding the will of God
expressed in the Bible rather than in the church.

forFaiferRac srerior Y ufeu 3z I Al yeoil & 3R difdme ©

JaR A AR & sicRIcHr DI IYuIadr vd BRSIER A YR @I arsdd ¥ sidald fopu sirel &I divon &l o1 JerR @ yerd P31 yuldr,  afést
cJerR (1483 - 1546) o, 3mzen - S ifaca @ Rigia o sgyaila feen @ o1 adoifcrr epfomd) odl & safvea fdfda (1484 -

1531) sii fop RasRels @ gas JRard! odr 9, a8 ARl @ seIR dfesr Tl A siffrd =Imud U 3 31e1sl 8l 318 3oslol [l 3o fSemlvr
RAatfsTcrsel S aerel D Prgia B yorstiid Roen  sifer wifeast (1509-1564) of grRecariedl @ gg wad 3a3, eefonz St waifRigof
raza foifdfa &f off 3o feru sifeR<Isa @ A I 9= PIR ATdHITD Adr ol I D SoIR drsad d SfcaaRaa $adikn g1 @I AfEIa dol
3 q i sifeR<rIsel @ A A ASHA oIl A

The leader of reformation in Switzerland was this person:
Rasrds d gurardt oar a?

[Question ID = 707][Question Description = 198_83_CSR_SEP22_S4_Q98]
1. Martin Luther

ol cjeR

[Option ID = 2825]
2. John Calvin

Sifor ifedor

[Option ID = 2826]
3. Ulrich zwingli

Ieif¥xa fodoreft

[Option ID = 2827]
4. St. Augustine



Je siferzersat

[Option ID = 2828]

4) Read the following paragraph and give answer to the related questions.

The Reformation was a declaration of the liberty of the individual conscience, and a shift on the basis of authority from the
church to the Bible. Martin Luther (1483-1546), the first protagonist of the Reformation, made much of the doctrine of
justification by faith. He was not a consistent theologian. Ulrich Zwingli (1484-1531), the leader of reformation in
Switzerland, departed more widely from the Latin church in thought. He revived from another point of view. Augustine’s
doctrine of election. John Calvin (1509-1564), formed the most complete system of theology, going to protestantism its
fighting armour. To him as to Augustine god was an absent sovereign. He differed from Augustine in finding the will of God
expressed in the Bible rather than in the church.

forgotferRac sterior o ufeu iz oY Adfra gosil @ ar e :

JUR 3 AR &I sicRIcHr I uTadr vd BRSIFER A YfroR @I arsdd ¥ sidafa fopu siel &I diuon & 51 JeR @ gy 331 gular,  aféet
cJerR (1483 - 1546) ol, 3nzen - Siod i @ Rigia o sgyail¥a e A o1 adoiferr epfondl ofl & safva fdfda (1484 -

1531) sit o5 RasiRdls & v JaRard! adr 9, a6 ARt & SRR Afes adf A 3ifrd RMMud FU 3 HcET 3l 318 Ioslal B sfo fScdpivr
A3ifoRTISal B RIal D Rigia ol Yorsitiad fsen  Sifet wifeast (1509-1564) o Qieecaiiel @t g dad Soz, eeiom &I aiféraigut
wraen foifdfa & off o feru siforersal @ oI i $ear PlaR Al rar off ad & somrr asaa 3 fealaa $adia sTar @I sifdsa bt
3 d A sifeReIse @ Ad A ABH odl A

This reformer, according to the author, formed the most complete system of theology, giving to protestantism its fighting
armour. ldentify the reformer

CRA® D 3R BRI JURD of YleIde daIicll Dl gy Dad Yglel B LRI Dl Adifere Ayui carazen oI fofdia foven e, 331 Jare @I
ugafory :

[Question ID = 708][Question Description = 199_83_CSR_SEP22_S4_Q99]
1. St. Aquines

3Jic uftraeiia

[Option ID = 2829]
2. Martin Luther

Ffol cjer

[Option ID = 2830]
3. John Calvin

Sifor a@ifedot

[Option ID = 2831]
4. St. Peter

e ez

[Option ID = 2832]

5) Read the following paragraph and give answer to the related questions.

The Reformation was a declaration of the liberty of the individual conscience, and a shift on the basis of authority from the
church to the Bible. Martin Luther (1483-1546), the first protagonist of the Reformation, made much of the doctrine of
justification by faith. He was not a consistent theologian. Ulrich Zwingli (1484-1531), the leader of reformation in
Switzerland, departed more widely from the Latin church in thought. He revived from another point of view. Augustine's
doctrine of election. John Calvin (1509-1564), formed the most complete system of theology, going to protestantism its
fighting armour. To him as to Augustine god was an absent sovereign. He differed from Augustine in finding the will of God
expressed in the Bible rather than in the church.

forsotferRac sterior o ufey 3iiz o1 Hdfera yesil @ sa= e :

JUR I =Afp Dl RIH DI VTGl Ud PRSIFER A YRIPR @l a1sdd d 3idfed fopu Siiol &I aivvn & 318 JLUR D g TR Yuidr, Aol
cJerR (1483 - 1546) o, s - sioa siifkica & Rigia o1 agyanf¥a fieen d o1 wdwifers eiondl oiéf & Iafa fdfder (1484 -
1531) Sl &b Rasrds @ v FURAIS! oidr ¥, 98 ARl @ 3IeRIR cfcs a[l 3 3frd RATUD WU I 3T 8l 38 Ioalol fep=Al sfea zfdcmiur



AieRerIsa & wRIsl B Rigia ol Yorsilfad fisan  sifer wsifeast (1509-1564) o greecaifeil ot gg daa o3, epfonz & Aaifirmigut
razen foifdfa & eff Sord RR1u sifercrsal @ oI A $ear sENar AN J4ar off od & aoIRT asad A sfealRaa $eafr scoT1 @) UfdsTa oo
3 q Aq siferRersel @ AA A J3A o3l q

This protestant reformer revived Augustine's doctrine of election
33 Yl JURD ol HivRersel d wol @ Rigia ol yetsilfad fovar e

[Question ID = 709][Question Description = 200_83_CSR_SEP22_S4_Q100]
1. Martin Luther King

T cpere a1

[Option ID = 2833]
2. John Celvin

Sifel apifedor

[Option ID = 2834]
3. Martin Luther

ol cjeR

[Option ID = 2835]
4. Ulrich Zwingli

Ieif¥xa fFasreft

[Option ID = 2836]

Topic:- GP_UGCNET_20SEPT22_SH2_S2_PartA

1) Based on the data in the table, answer the five questions that follow:

The following table shows the population (in lakhs) of the cities P, Q and R over the seven years from 2014 to 2020. Based
on the data in the table, answer the five questions that follow:

Year-wise Population of Cities

Population of City (in Lakhs)

Year p Q R

2014 40 20 50
2015 45 30 40
2016 60 50 60
2017 50 55 70
2018 70 60 80
2019 65 70 90
2020 80 75 100

forgotferRaa aiferat ad 2014 21 2020 awm @ A1 auf 3 diol 91821 P, Q 3k R I Storizn (cira 3) corfell 8 321 aiferdr @ snemR R
JFEfeia uia gesit @ Iar Sifse

91531 &bl ad-ar SierRizRT

o 9182 bl SToRIR=A (cIrd 3 )
P Q R
2014 40 20 50
2015 45 30 40
2016 60 50 60
2017 50 55 70
2018 70 60 80
2019 65 70 90
2020 80 75 100




What is the approximate average population of City-P for all the given years?

it fu s1u aulf & forg 9183 - P @51 cre1sia1 3iiad STolddzc oIl & ?

[Question ID = 10860][Question Description = 101_00_GP4_SEP22_S2_QO01]
1. 65 Lakhs
65 cma

[Option ID = 13437]
2. 59 Lakhs
59 ara

[Option ID = 13438]
3. 52 Lakhs
52 era

[Option ID = 13439]
4. 54 Lakhs
54 era

[Option ID = 13440]

2) Based on the data in the table, answer the five questions that follow:

The following table shows the population (in lakhs) of the cities P, Q and R over the seven years from 2014 to 2020. Based
on the data in the table, answer the five questions that follow:

Year-wise Population of Cities

Population of City (in Lakhs)

Year p Q R

2014 40 20 50
2015 45 30 40
2016 60 50 60
2017 50 55 70
2018 70 60 80
2019 65 70 90
2020 80 75 100

forgotferRaa aiferat ad 2014 21 2020 awm @ A1 auf 3 ot 91821 P, Q 3k R I Storiz=n (cira ) gorfedl 8 31 aiferor o e R
gt uid gesit @ IR Sifse

91531 bl ad-ar SlerRizRT

o 9183 bl SToRIR=A  (cIrd 3 )
P Q R
2014 40 20 50
2015 45 30 40
2016 60 50 60
2017 50 55 70
2018 70 60 80
2019 65 70 90
2020 80 75 100

What is the ratio of the total population of City-P for the years 2014, 2015 and 2016 together to the total population of City-R for
the years 2018, 2019 and 2020 together?

adf 2018, 2019 siiz 2020 @1 RBrelrd? 9182~ R oY aget Soriz=n @ gl ad 2014, 2015 3iiz 2016 @ fére 9182~ P &1 @el SolRIzRI 1 3ioluld a=il 3 ?

[Question ID = 10861][Question Description = 102_00_GP4_SEP22_S2_Q02]
1. 31: 54 [Option ID = 13441]
2. 29 : 53 [Option ID = 13442]
3. 27 : 53 [Option ID = 13443]
4. 29 : 54 [Option ID = 13444]



3) Based on the data in the table, answer the five questions that follow:

The following table shows the population (in lakhs) of the cities P, Q and R over the seven years from 2014 to 2020. Based
on the data in the table, answer the five questions that follow:

Year-wise Population of Cities

Population of City (in Lakhs)

Year P Q R

2014 40 20 50
2015 45 30 40
2016 60 50 60
2017 50 55 70
2018 70 60 80
2019 65 70 90
2020 80 75 100

forgotferRaa aiferat ad 2014 21 2020 awm @ A1 adf 4 ol 91821 P, Q 3k R I Storiz=n (cira 3) corfedl 8 31 aiferor @ e R
gt uid gesit @ Iar SifSre

91531 &bl ad-ar SlerRizRT

o 9182 bl SToRIReA (cIrd 3 )
P Q R
2014 40 20 50
2015 45 30 40
2016 60 50 60
2017 50 55 70
2018 70 60 80
2019 65 70 90
2020 80 75 100

What is the percentage rise in population of City-R from the year 2016 to 20177

adf 2016 51 detetr 3 2017 3 9183 R o1 Sterzizean & g gferera a=m 8 ?

[Question ID = 10862][Question Description = 103_00_GP4_SEP22_S2_QO03]
1. 8.34 % [Option ID = 13445]

2. 10.00 % [Option ID = 13446]

3. 16.67 % [Option ID = 13447]

4. 21.45 % [Option ID = 13448]

4) Based on the data in the table, answer the five questions that follow:

The following table shows the population (in lakhs) of the cities P, Q and R over the seven years from 2014 to 2020. Based
on the data in the table, answer the five questions that follow:

Year-wise Population of Cities

Year Population of City (in Lakhs)
P Q R

2014 40 20 50
2015 45 30 40
2016 60 50 60
2017 50 55 70
2018 70 60 80
2019 65 70 90
2020 80 75 100




forrarferRaa anfermr ad 2014 1 2020 awm @ Ard adf 3 il 90 P, Q 3k R &l Slorizn (ara #) sorfdl 3 31 anfért @ sneR uz
et uid gesil @ IR S

91531 b ad-ar SrerRizRn

o 9182 bl SRR (e 3 )
P Q R
2014 40 20 50
2015 45 30 40
2016 60 50 60
2017 50 55 70
2018 70 60 80
2019 65 70 90
2020 80 75 100

What is the difference in the total population of City-R and the total population of City-Q for all seven years?

19l 21 auf @ o 9162~ R 51 @ SiolRiz 3R 9163 Q 1 el SIoRIRR I 3R =11 8 ?

[Question ID = 10863][Question Description = 104_00_GP4_SEP22_S2_Q04]
1. 130 Lakhs
130 ama

[Option ID = 13449]
2. 80 Lakhs
80 ema

[Option ID = 13450]
3. 110 Lakhs
110 ea

[Option ID = 13451]
4. 85 Lakhs
85 cma

[Option ID = 13452]

5) Based on the data in the table, answer the five questions that follow:

The following table shows the population (in lakhs) of the cities P, Q and R over the seven years from 2014 to 2020. Based
on the data in the table, answer the five questions that follow:

Year-wise Population of Cities

Year Population of City (in Lakhs)
P Q R

2014 40 20 50
2015 45 30 40
2016 60 50 60
2017 50 55 70
2018 70 60 80
2019 65 70 90
2020 80 75 100

forrarferRaa anferet ad 2014 1 2020 aw @ Ard adf 3 it 920 P, Q 3R R &l slorizn (ara #) corfdt 3 531 anféret & sneR uz
et uia gesit @ IR SifSe

9153 bl ad-ar SierRizRT

o 9182 bl SToRIReAT (cIrd 3 )
P Q R
2014 40 20 50
2015 45 30 40
2016 60 50 60




2017 50 55 70
2018 70 60 80
2019 65 70 90
2020 80 75 100

For which city and in which year, the percent rise in population from the previous year was the highest?

fop1 9182 3il= o=t ad 3 SeRizen 3 gfiy (yfdrera) fireel ad &1 qeton 3 raifire oft ?

[Question ID = 10864][Question Description = 105_00_GP4_SEP22_S2_QO05]
1. City-Q and year - 2016
9i83-Q 3z ad-2016

[Option ID = 13453]
2. City-P and year - 2018
9B3-P 3ie af-2018

[Option ID = 13454]
3. City-R and year - 2016
oz3-R 3I? adf-2016

[Option ID = 13455]
4. City-P and year - 2020
9B2-P 3ie af-2020

[Option ID = 13456]

Topic:- GP_UGCNET_20SEPT22_SH2_S2_PartB

1) Which of the following phrases best describes blended learning?

forgaiferi¥aa 31 21 wlar arariior B31fd)a fren @1 Ad9eo quier dear s ?

[Question ID = 10865][Question Description = 106_00_GP4_SEP22_S2_QO06]
1. It involves two teachers teaching the class
S G 3[EATID] GRI D&l 3 {9181 Soir onfdret 3

[Option ID = 13457]
2. It involves online interactions only through LMS
39 Dact LMS @ are=iat 3 sifoletisol sioeilor fopRm onfdiet &

[Option ID = 13458]
3. It combines elements of face-to-face and online / ICT tools for teaching-learning
g {O18IvT-31feemT @ fore WA ¢ WA 3iiR sifoletsel /31S A & ¢e @ Acdl @l [reter 8

[Option ID = 13459]
4. It involves older students teaching younger students through a mentoring approach
S R0l BIGI GRI ampll zfiedlul D gRI 6w BIG DI UGell onfdeT 3

[Option ID = 13460]

2) For effective integration of ICT in teaching-learning, the following should be used for providing online content,
assessments, and for seamless virtual interaction of teachers with learners.

forgror - sif2era 3 3 Mt & @ yYaurdl didar D fer, foaifeiRaa o1 IuRNeT sifoletsol farer - AR il Sol A el Yraddl & AT eAUD Bl forafer
3iceiioRafapen @ fere fopa siren afde

[Question ID = 10866][Question Description = 107_00_GP4_SEP22_S2_Q07]
1. WhatsApp
TBICAR
[Option ID = 13461]
2. Content Management System
faweT- Al gdtror Ugher
[Option ID = 13462]
3. Learning Management System
3ifeere yderol Ugfer
[Option ID = 13463]



4. Facebook

BAYD
[Option ID = 13464]

3) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Open Educational Resources (OERs) are available for free.

Reason R: The basic philosophy behind OERs is to provide freely accessible, openly licensed text and media to all, that are
useful for teaching and learning.

In light of the above statements, choose the most appropriate answer from the options given below

ofi< 31 perel fRu e 3 1 uas bl sifdrperet (A) 3R g @ BRI (R) a1 sRI &
sifSrperet (A) : I ifdre Fiznerst (OERS) for:91ca Suctetr 3

@Rl (R) : OERs @& Wi ey Rrgia 1sft o) for:9lcas 7u A IO, Fel Al UR s YT UIRRIEES 3iiR 3T Suetser 1ot 3 it 9181 sz
siftrera @ ferg IuRiet 3

IWRfTh Berell B el 3 foratifdsa faraseal 3 A A8l Ia= got
[Question ID = 10867][Question Description = 108_00_GP4_SEP22_S2_Q08]

1. Both A and R are correct and R is the correct explanation of A
(A) 3iz (R) cleil 21t & 3l (R), (A) &I 18l carcen &

[Option ID = 13465]
2. Both A and R are correct but R is NOT the correct explanation of A
(A) 3iz (R) Gl 21t 8 weog (R), (A) &t 1t =me=n ot 8

[Option ID = 13466]
3. Ais correct but R is not correct
(A) & 8 weog (R) it ordi @

[Option ID = 13467]
4. Ais not correct but R is correct
(A) & ol 3 weog (R) 28 3

[Option ID = 13468]

4) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: MOOCs are learner-centric courses.
Reason R: MOOCs can only be accessed by a learner in the presence of his/her teacher.

In light of the above statements, choose the most appropriate answer from the options given below

il SY perel fRu e 3 1 uas bl sifdrperet (A) 3R g @1 BRI (R) @a1 sRN &

sifSreret (A) : MOOCs siret grearadl @i argadt &

@Rl (R) : MOOCs fip=fl stror yrawsdl $IRT 3iael siemuds o1 suf¥erfer 3 3 sifiere=r a1 wrmar 3
IuRfeb Weroit @ areila 3 Petiftoa fiweal 3 3 3718t 3az ot :

[Question ID = 10868][Question Description = 109_00_GP4_SEP22_S2_Q09]

1. Both A and R are correct and R is the correct explanation of A
(A) aiiz (R) Sieil 21t 2 3l (R), (A) & 3 wareen 3

[Option ID = 13469]
2. Both A and R are correct but R is NOT the correct explanation of A
(A) aliz (R) el 21 & w2og (R), (A) b 3 creen ot 8

[Option ID = 13470]
3. Ais correct but R is not correct
(A) & 8 weoq (R) 21t ordt

[Option ID = 13471]
4. Ais not correct but R is correct
(A) &t o6t 8 wdog (R) &1 2

[Option ID = 13472]

5) By which of the following means can a teacher establish a good rapport with his/her students?



forgotferR3aa 3t A1 P31 ATeraT A EATUD UG BIGI A ICHT AHeel FMUA B2 ADdI & ?

[Question ID = 10869][Question Description = 110_00_GP4_SEP22_S2_Q10]
1. Showing authority in class
o8il A QDR fGaarm

[Option ID = 13473]
2. Impressing students by his/her knowledge and skill
3ol SI6l 3iR PBIoleT GRI BIG) DI Yarfd a2

[Option ID = 13474]

3. Playing the role of a guide/facilitator with a desire to help them
BIGl D 3G Dol DI 5ol A v ARl / Jowradl &t sfdrar formas
[Option ID = 13475]

4. Becoming a friend to the students
Bl DI S Folb2

[Option ID = 13476]

6) Which one of the following is not used for checking plagiarism?

forgarfeiRae 3 2 fopre1 SuRleT Affea® A3l Adbol B fore o8l o= sirar & ?

[Question ID = 10870][Question Description = 111_00_GP4_SEP22_S2_Q11]
1. Turnitin
efaffeer

[Option ID = 13477]
2. Latex
CRTA

[Option ID = 13478]
3. iThenticate
ssdifedde

[Option ID = 13479]
4. Urkund
3D

=)

[Option ID = 13480]

7) Match List | with List Il

List | List Il

Ethical concepts in research

Characteristics

IA. Deontological

I. What makes people good

B. Teleological

1. Application of moral norms of society|

C. Relativist Theory

Ill. Balancing social norms

D. Theory of Virtue IV. Rule based
Choose the correct answer from the options given below:

et -1 1 3 -l A AR Bifde :

aeht -l et -l

BiolRieIet 3 ofiferures sraemun Rrorercmd

IA. ofifer o<y |. SiI clIell DY 3BT Folldl &

B. 3Z9udcIad Il. TSI B SiferD ATGICST BT IuAPT
C. wmagrars Rrgia Ill. ST ATGIS] B Aqfera w2t
D. st Rrgiaa IV. forerar amrenfyer

it f3u a1e faaseul 3 2 8 3a= gfere :

[Question ID = 10871][Question Description = 112_00_GP4_SEP22_S2_Q12]
A-1,B-1l, C-1ll, D-IV[Option ID = 13481]
A-1l,B -1, C-1V,D-1[Option ID = 13482]
A-1ll,B-1V, C-1,D - Il [Option ID = 13483]
A-1V,B-1ll, C-1l,D-1[Option ID = 13484]

A W N -

8) Which of the following should be taken into account while preparing a questionnaire?

A. The purpose of research



B. Brevity of questions

C. Avoidance of leading questions

D. Questions that seek detailed information
E. Preference for double-barrelled questions

Choose the correct answer from the options given below:

forgotferRaa 3 A A Yeotrachl Fume w2 JerI et 3 a1 Siren Ay ?
A. 3IGI¥IGENGT DT 39

B. gesil &t fdraar

C. gz ygsil 37 seeln

D. grot frerdt forega e &t sieft 3

E. Ze gsoil @) siféraro=rar ol

il fou s1e fraseul 3 31 & Fa= goi ¢

[Question ID = 10872][Question Description = 113_00_GP4_SEP22_S2_Q13]
1. A, Band Conly

Dact A, B siiz C

[Option ID = 13485]
2. B, Cand D only

dact B, C 3z D

[Option ID = 13486]
3. C,DandEonly

@aa C, D siz E

[Option ID = 13487]
4. A, DandE only

et A, D sl E
[Option ID = 13488]

9) The quantitative research is based on

ATIHD 3oene b ur smenfya & ?

[Question ID = 10873][Question Description = 114_00_GP4_SEP22_S2_Q14]
1. Reductionism
sifeRIcfiasur

[Option ID = 13489]
2. Grounded theory
#ct Rrgia

[Option ID = 13490]
3. Field notes

&I ol

[Option ID = 13491]
4. Expansionism
fodararg

[Option ID = 13492]

10) When a research problem is related to heterogeneous population, the most suitable sampling method is:

[Question ID = 10874][Question Description = 115_00_GP4_SEP22_S2_Q15]



1. Cluster Sampling
deree? Yferariol

[Option ID = 13493]
2. Stratified Sampling
AR yferriol

[Option ID = 13494]
3. Convenient Sampling

JfAEISold yfereriol

[Option ID = 13495]
4. Lottery Method

cifest fafer

[Option ID = 13496]

11) One of the barriers to reception in communication is

JAdIc-38vI I TP ARIED 3 :

[Question ID = 10875][Question Description = 116_00_GP4_SEP22_S2_Q16]
1. Environmental stimulus
wRifauilr 3gtdet

[Option ID = 13497]
2. Open mindedness
foral & yfer getmdor

[Option ID = 13498]
3. Message brevity
3Jicer &t 2Afdrar

[Option ID = 13499]
4. Language orderliness
IRl afdraar

[Option ID = 13500]

12) Successful communication with students will promote which of the following factors?
A. Micro view of the world.

B. Social class struggle

C. Cognitive appreciation

D. Personality development

E. Cultural and aesthetic values

Choose the correct answer from the options given below:

Rrenf2fil & Arer Awer AeuvI HafeiRaa 3 A A PR® B Peafdd oar 3 ?
A. frrg Y g1 zfee

B. Arenfire aof e

C. JAsIIollcA® AMB6IT

D. wafeca iRt

E. Airafere 3R Al Ica

offax fow s1e frepeul 3t 2 A8t 372 9ol :

[Question ID = 10876][Question Description = 117_00_GP4_SEP22_S2_Q17]
1. A, BandConly
et A, B siiz C

[Option ID = 13501]
2. B, Cand D only
@dqct B, C 3k D

[Option ID = 13502]
3. C,DandE only



@aa C, D siz E

[Option ID = 13503]
4. A, Cand E only
dac A, C iR E

[Option ID = 13504]

13) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Organisational communication flows downwards, upwards and horizontally within its network of inter-dependent
relations.

Reason R : Organisational communication is not necessary to achieve the organisation's objectives.

In light of the above statements, choose the correct answer from the options given below

il 51 werot Ru a1e 3 1 uas i sifdrperet (A) 3iiz g3 @I @Rl (R) a1 RN 3

aifdrperet (A) : FdTSelIcdd AFYUI 3icR-forsfz el @B 3rdol olcad @ Hiar ofla o1 3R, U= o1 3R qen Sifersiia adld A yare war 3
®RUI (R) : AsIoelIcAd® AFYUUI IHoTSol B cigzil il Yifft @ R siraead o1t 3rar 3

IWRfTD Dol B 3MIclid 3 oot fravcul 3 A A8l 3a= gol :

[Question ID = 10877][Question Description = 118_00_GP4_SEP22_S2_Q18]

1. Both A and R are true and R is the correct explanation of A
(A) 3z (R) glall 3 8 3 (R), (A) &t 3 careen 3

[Option ID = 13505]
2. Both A and R are true but R is NOT the correct explanation of A
(A) 3z (R) <lell 3T & woq (R), (A) &t 38 e oidt &

[Option ID = 13506]
3. Ais true but R is false
(A) 31 8 w¥oq (R) 3R 8

[Option ID = 13507]
4. Ais false but R is true
(A) sricr 2 waog (R) A 8

[Option ID = 13508]

14) According to Roland Barthes, the sequence of narrative codes is:
A. Action

B. Symbolic

C. Semantic

D. Enigma

E. Referential

Choose the correct answer from the options given below

AT FATRA D IIGRIR ARRTGICHD Pl BT BA 3
A. oRarE

B. ydiwrcas

C. srel-fereras

D. =

E. icsfera

offar fow are frepeul 3t 2 73t 302 9ol :

[Question ID = 10878][Question Description = 119_00_GP4_SEP22_S2_Q19]
1. B, C, D, E, A [Option ID = 13509]
2. C, D, A, E, B [Option ID = 13510]
3. D, E, B, A, C[Option ID = 13511]
4. A, C, D, E, B [Option ID = 13512]

’

y & Yy



15) Match List | with List Il

List | List Il

Types of Communication Analysis Communication Factor|
IA. Control I. 'What' aspect

B. Content 1. 'Channel’ aspect

C. Media I1l. 'Reach’ aspect

D. Audience IV. 'Who' aspect

Choose the correct answer from the options given below:

et -1 1 3 -l A AR Bifde :

ozt -1 ozt Il
RIFHUT & fI°SHUT B gbIR RIFYHUT B DPRD
A. foricor I. ‘o’ ey,

B. frerrarq Il. "Jotet’ usey,
C. afifden lll. g’ uaey
D. ojtar IV. '@ior’ use,

offa) fou a1e farasedl 3 2 A8 Ia= gfore :

[Question ID = 10879][Question Description = 120_00_GP4_SEP22_S2_Q20]
A-1lll,B-1V,C-1,D-Il[Option ID = 13513]
A-1V,B-1,C-1l,D-Ill [Option ID = 13514]
A-1l,B-1l,C-1V,D-1[Option ID = 13515]
A-1,B-1l,C-1l,D- IV [Option ID = 13516]

A W N -

16) Find the wrong number in the series given below:

3, 8,15, 24, 34, 48, 63,...

offax €1 o1$ gjaetn 3 s1era JoT aary
3,8, 15, 24, 34, 48, 63

[Question ID = 10880][Question Description = 121_00_GP4_SEP22_S2_Q21]
34 [Option ID = 13517]
48 [Option ID = 13518]
24 [Option ID = 13519]
63 [Option ID = 13520]

AN wnN -

17) What is the average of all the prime numbers between 30 and 507
30 3iiz 50 o5 a1e=r Asil TSI JieAT3il T 3iiaa a=in 8 ?

[Question ID = 10881][Question Description = 122_00_GP4_SEP22_S2_Q22]
38.8 [Option ID = 13521]
37.8 [Option ID = 13522]
39.8 [Option ID = 13523]
39.5 [Option ID = 13524]

A w N =

18) Eighteen years ago, a man was three times as old as his son. Now, the man is twice as old as his son. The sum of the

present ages of the man and his son is

18 o usd), v it sruol a¢ A ofiot ol &St a1 318fl, d 1Sl AT A Y oIl ST & AP 3iI= IAD AT &Y aclaHrol 3R BT AT S ?

[Question ID = 10882][Question Description = 123_00_GP4_SEP22_S2_Q23]
1. 72 [Option ID = 13525]
2. 100 [Option ID = 13526]
3. 105 [Option ID = 13527]
4. 108 [Option ID = 13528]

19) Two boys A and B start at the same time to ride from Delhi to Meerut, 60 km away. A travels 4 km an hour slower than B.
When B reaches Meerut, he immediately turns back, meeting A, 12 km from Meerut. What is the speed of A in km/hr?

A 3iiz B <l crsa uep 81 eI feoeht 21 60 fopafl o3 dvo @ féru A 9pe @2 & B o1 srign A 4 fpefl yfer wer efisn acrar 3 5@ B divs uga siar @ as gia

arftra ciledn 3 3iiz A6 A 12 fpdl b gl R A A RBrerar 3 A o1 aifer fepafi / eier 3 feperofl 3 ?

[Question ID = 10883][Question Description = 124_00_GP4_SEP22_S2_Q24]
1. 12 [Option ID = 13529]



2. 8 [Option ID = 13530]
3. 6 [Option ID = 13531]
4. 10 [Option ID = 13532]

20) A television manufacturer earns 20% profit by selling each T.V. set for Rs 14,400. If the production cost is increased by
15%, what should be the new selling price of a T.V. set so as to gain a profit of 15%?

uep ecfiferstet foratfar e é.dl2ie @1 Rs14,400 3 dawm= 20% <irsi Y a1 3 Afe 3curcel oerd 3 15% o1 giis 3iclt 3 al 15% o1 a3t gra @2el & fere
uep &l I a1 orn frap e aRa ol anfde ?

[Question ID = 10884][Question Description = 125_00_GP4_SEP22_S2_Q25]
15,870 [Option ID = 13533]
13,800 [Option ID = 13534]
12,000 [Option ID = 13535]
15,000 [Option ID = 13536]

A WN -

21) In Classical Square of Opposition, if ' All S is P' is given as false, then which of the following could be immediately inferred
from it?

A.'No Sis P'is true

B. 'Some S is not P' is false
C.'Some S is not P' is true

D. 'No S is P' is undetermined
E.'Some S is P' is undetermined

Choose the correct answer from the options given below:

ferRtenl @ o<l aqyfst 3 "l S, P &' @l s1cra #Aroll orRN 3 dl forgsiferl¥ad 3 A dcaplel aRII 3fofdTol CIPTRI SII ADdl 3 ?
"ot S, Podi 3 A 3

‘o S, P ol 3' a1 &

‘oS, Pl a3

o 0 w »

.'@1$ oft S, P o1t &' arforerifea &
E.'®@s S, P & sifforeifya 3
offa o are eyl 3t 1 73t 302 ol :

[Question ID = 10885][Question Description = 126_00_GP4_SEP22_S2_Q26]
1. A, Cand E only
Dact A,C sl E

[Option ID = 13537]
2. C,DandE only
Ddact C, D sl E
[Option ID = 13538]
3. B, Dand E only
Ddact B, D sk E
[Option ID = 13539]
4. A, BandE only
Dact A, B3z E

[Option ID = 13540]

22) Which of the following is a type of Fallacy of Relevance?
forgotferRac 3t A o= AFAGAT B ADBSIY BT Th YbR & ?

[Question ID = 10886][Question Description = 127_00_GP4_SEP22_S2_Q27]
1. The Appeal to Force
qeTrd 31ef @I BB

[Option ID = 13541]
2. The Argument from Ignorance
3116l 3 dD



[Option ID = 13542]
3. Complex Question
Sifeet geot

[Option ID = 13543]

4. Fallacy of Composition
Jercol DT ADBGIY
[Option ID = 13544]

23) a, b, c, d all have the attributes P and Q.

a, b, c all have the attribute R.

Therefore d probably has the attribute R.

Which of the following is true regarding the above argument?
A. It is a deductive argument.

B. It is an inductive argument.

C. It is an analogical argument.

D. It is a valid argument.

E. It is an invalid argument.

Choose the correct answer from the options given below:

a,b,c,dasfidisUIPai Q3
a,b,casfidsuIRE

aret: d 3 Hsraa: a1 R 3isg 3

SWRARD da D e 3 Dol AT DAl AL 3 -
A. 316 U forRIecas ad 3

B. 318 v SIBIAGICHD dd &

C. Iz T ARIAIHCTD ad &

D. u18 uep der aw §

E. 318 v srder aw 3

offa feu 1o freseal 3 2 d Ia= gol :

[Question ID = 10887][Question Description = 128_00_GP4_SEP22_S2_Q28]
1. Band Conly
Dact B sz C

[Option ID = 13545]
2. Aand D only
Dact A siiz D

[Option ID = 13546]
3. Band D only
Dact B siiz D

[Option ID = 13547]
4. BandE only
et B3z E

[Option ID = 13548]
24) Which of the following is/are true regarding the relation between the middle and major terms according to Nyaya
philosophy?
A. It has to be a necessary relation.
B. It can be either necessary or contingent relation.
C. It can be causal relation.
D. It can be species-genus relation.

E. It can be member-class relation.



Choose the correct answer from the options given below:

AR G9ToT-91I) B 3SR HE A1 3T Ucl B i der b ar ¥ fogorferRaa 3 21 ar adr 3 ?
A. 515 siforard Hder &

B. 18 a1 Al 3ra9Ac 3rerdr rdcifaed el 81 ADdI 3

C. I8 DRUICHAD ALl 31 AD 3

D. w1z sufer-dor Jder 81 APpdr 3

E. a1z Agea-asf Adel 31 A 3

offa fou s1e fareeul 3t 2 18t 392 gol :

[Question ID = 10888][Question Description = 129_00_GP4_SEP22_S2_Q29]
. B,DandE only
dact B, D 3siR E

1

[Option ID = 13549]
2. B, C,DandE only
@dact B, C, D3R E

[Option ID = 13550]
3. A, C,DandE only
dact A, C, D3R E

[Option ID = 13551]
4. A, Cand D only
@act A, C iz D

[Option ID = 13552]

25) The argument '‘Anamika must be elsewhere, since she is known to be alive and not to be seen at her house’, is based on
which of the following means of knowledge (Pramana)?

Y8 a5~ "3relfdnT B3l 3R 3, a=Iifes as Shifdd arofl Sl 3 3R sruel R uR o181 S¥dl sl 3' forgaifeiRaa 3 A fep=1 siret (Yermon) uz smenfea 3 ?

[Question ID = 10889][Question Description = 130_00_GP4_SEP22_S2_Q30]
1. Postulation (Arthapatti)
srerfufer

[Option ID = 13553]
2. Non-Cognition (Unupalabdhi)
SioJucifder

[Option ID = 13554]
3. Comparison (Upamana)
Ernic

[Option ID = 13555]
4. Verbal Testimony (Sabda)
oI5G

[Option ID = 13556]

26) Which of the following peripheral devices are considered as only input devices?
A. Headphone

B. Optical Mark Reader (OMR)

C. Graphic Tablet

D. Light Pen

E. Projector

Choose the correct answer from the options given below:

forgaifer¥aa ufselier Suwm=vil 3 A PBlol A Dact soryc FarsA B WU A AR A 8 ?
A. 35wl



B. siiftcarer A $is2 (30 wat 31R)

C. apiftbe Serdie

D. a5 Uet

E. Qisiac:

ofia 3w s1e faracul 3 2 At 3@= ol :

[Question ID = 10890][Question Description = 131_00_GP4_SEP22_S2_Q31]
1. B, Cand D only
Dact B, C iz D

[Option ID = 13557]
2. B, CandE only
Ddact B, C 3k E

[Option ID = 13558]
3. A, BandConly
Dact A, B siiz C

[Option ID = 13559]
4. C,DandE only
Ddact C, D sk E

[Option ID = 13560]

27) You wish to save the changed version of a document that was originally located on a standard CD-ROM. What is the best
method to accomplish this?

3y fepl sraygic @ ufvafelea wu @1 A1 won arsd & Sit Jet WU A Aleld Al S-¥1A A Beaad 331 gra @0l o Adoyes fafr R s ?

[Question ID = 10891][Question Description = 132_00_GP4_SEP22_S2_Q32]
1. Read the document from the CD-ROM, modify the document, then save it to the hard disk
2t <t 3o A STaRygic ug, STaRjgic TR d3 b2 33 8IS f$3D w IRASH o3

[Option ID = 13561]
2. Read the document from the CD-ROM, modify the document, then save it back to the CD-ROM
2R <t 3ot 3 STORpgic UG, STaRpgic FUIART @3 fibe 331 2 St a1 w b2 A IR 3

[Option ID = 13562]
3. Rename the document from the CD-ROM, read and modify the document, then save it to the hard drive
i St 31 3 STRYFIc DI Yololld B2, SIRIFIC DI U 3R FUIART @3 b2 3 a8 B3 W RS o3

[Option ID = 13563]
4. Copy the document from the CD-ROM to the hard drive, read the document, modify it, and save it back to the CD-ROM
sTaRygic Pt 2t St o1 A 81 3o 3 yferferit Joiri, sTaRpic ud, S Fuidfied o3 3l A b2 A 20 St a1 w2 FPAdra o3

[Option ID = 13564]

28) Given below are two statements

Statement I: 'Spam’ is an attempt to acquire sensitive information for malicious reasons, by masquerading as a trustworthy
entity.

Statement II: 'Phishing’ is a type of unsolicited bulk email of identical messages sent to numerous recipents.

In light of the above statements, choose the correct answer from the options given below

oI S peret feu sTu 3 :

@weret - | 1 ' Rreaoliz AAca o1 A9 Tolrp2 geifaciguf Uil A Jdcorefier Jeacll Y Bt BT U JRIRT 3
werol - |l 1 'fRieT 3rizsr yraaalsii ot 1St s1e 3Rnfrd v Sl Aol &1 &2 A $3ieT b1 YR 3

Sufe werell & Jrcie 3 BreoRiRad Ricscdl 3 3 31 3a2 gt :

[Question ID = 10892][Question Description = 133_00_GP4_SEP22_S2_Q33]

1. Both Statement | and Statement Il are true
Dot | 3R || greil 3 &

[Option ID = 13565]
2. Both Statement | and Statement Il are false
Dol | 3R || Slell 3RIT &



[Option ID = 13566]
3. Statement | is true but Statement Il is false
el | A 8, fpog wee | srica 8

[Option ID = 13567]
4. Statement | is false but Statement Il is true
el | 3RIRI 3 , fopoqg el |l 31 8

[Option ID = 13568]

29) Regarding wearable technology, which of the following tasks is/are accomplished by wearable devices?
A. Providing more security compared to other computing devices

B. Sharing of a wearable device's Internet connection with other connected computers

C. Assisting hearing impaired persons

Choose the correct answer from the options given below:

Ugolol Ao ddoild @ e I forgaifciRaa 3 21 dlol 3 DRI UssTol AT UMW GRI AUIfed sld & ?
A. 31631 BFR]fES1 Ul b1 detoll 3 31fId A8 YgIel dell

B. ugolol A1 3UDWIT B FcIolc Dold9lol DI 363 Helg DY D AT AT DIoll

C. oravmEifera =ifeb 5t siGg doll

offa fou s1e freeul 3f 2 A1) 392 9ol :

[Question ID = 10893][Question Description = 134_00_GP4_SEP22_S2_Q34]
1. Aand B only
@dact A 3iiz B

[Option ID = 13569]
2. Bonly
dacet B

[Option ID = 13570]
3. Band Conly
@act B sie C

[Option ID = 13571]
4. Conly
@dact C

[Option ID = 13572]

30) A software company requires ' GB RAM minimum and 2 GB RAM recommended' for its new Operating System (OS)
software. The likely outcome of attempting to install this OS on a computer with 1 GB RAM would be that

T ATFCRR DUl DI 31Tl oRI ifufest Reea (31l v21) Hivedzr @ fére "1 Sht o Ya1 oyoraa siiz 2 it o 331 sopeif¥ta’ ot smagaar & 1 5t & Yot arat
DIRICI UR 3 3l TA DI 33<Icl Dol D YARI D1 AN uf¥ored s aren e

[Question ID = 10894][Question Description = 135_00_GP4_SEP22_S2_Q35]
1. files will fail to save
wIscl JPRASA Blol 31 fwet al SRBl

[Option ID = 13573]
2. peripheral devices will fail to work
uf¥efter uasaur wrf w2l g6 w2 BT

[Option ID = 13574]
3. the OS will fail to install and therefore the computer will not run
3l B3, $3<het dlol A fawet 3 sl 3IR 331 A BFRIc DRI ofdl DI

[Option ID = 13575]
4. the computer will not run at its optimum performance
DRIC? 3ol Stcidl DPRISHIAL A DRI oIdl Dol

[Option ID = 13576]

31) Lifecycle assessment of a product is done keeping in mind mainly



fop=il Srurc & Silael T, BT D cIel FITRI: A ATl 3 W D= fepar S 3 :

[Question ID = 10895][Question Description = 136_00_GP4_SEP22_S2_Q36]
1. Manufacturing

faforafor (Aodaafis)

[Option ID = 13577]
2. Packaging

Tadfdier

[Option ID = 13578]
3. Disposal

forzarur (f33urster)

[Option ID = 13579]
4. Distribution

fererzor

[Option ID = 13580]

32) Stable atmospheric conditions help in

f¥rers arggisciln ufzf¥-erferit fepadl Jsr® 3 ?

[Question ID = 10896][Question Description = 137_00_GP4_SEP22_S2_Q37]
1. Accumulation of the air pollutants
AR] YGUDI D AcRI6l 3
[Option ID = 13581]
2. Dispersion of the air pollutants
AR] YguD! D farster I
[Option ID = 13582]
3. Dispersion of the water pollutants
SieT Ygub! @ farstor 3
[Option ID = 13583]
4. Neutralisation of air pollutants
AR] YGUDI D foreysirdet ot
[Option ID = 13584]

33) The contribution of energy efficiency enhancement measures could be significant in the realisation of the following
Sustainable Development Goals (SDGs):

Feil gerar fgly Suril o1 AeIca fowsferRaa Jdad famrT aeil (v $1 oft) &1 gifit 3 ascagyt 81 awar 3

[Question ID = 10897][Question Description = 138_00_GP4_SEP22_S2_Q38]
1. SDGs 7, 11, 12, 13
xSt 7, 11,12, 13

[Option ID = 13585]
2. SDGs 7, 11, 12, 14, 15
vadst 7, 11, 12, 14, 15

[Option ID = 13586]
3. SDGs 5, 7, 11, 13, 17
cadst 5, 7, 11, 13, 17

[Option ID = 13587]
4. SDGs 5, 12, 14, 17
wastsht 5, 12, 14, 17

[Option ID = 13588]

34) Which of the following pairs of countries conceived the idea of the International Solar Alliance?

Soll @ forotferRRad Joar 3 A Rpol 3idR A AH1? 3164 el @ faar o1 uf¥mcuen o1 off ?

[Question ID = 10898][Question Description = 139_00_GP4_SEP22_S2_Q39]
1. India and USA
A1 312 A ©

[Option ID = 13589]



2. India and Australia

9T 31 SIRCfeRI

[Option ID = 13590]
3. India and France
9T 3R Wi

[Option ID = 13591]

4. India and China
91 3IR <ot

[Option ID = 13592]

35) Solar Water Still is a device used to

32 sicr RBec forgol 3 Gp a1 3 ©

[Question ID = 10899][Question Description = 140_00_GP4_SEP22_S2_Q40]
1. Desalinate ocean water
PR Siel fderauitasur 3

[Option ID = 13593]
2. Heat the water
SieT 1 o1t @al 3

[Option ID = 13594]
3. Remove microbes from water
Siet 3 Sfiary serol 3

[Option ID = 13595]
4. Streamline the flowing water
&l Sl Pl JYyaret doirol I

[Option ID = 13596]

36) The white paper on Indian Education was announced a few days before the passing of the Indian Universities Act in
HRdRI 131811 U? 2ad uq &1 aluvn ARl faeafdencrn siféforaa @ urf¥da glol A @ St gd fepaa adf 3 o1 a1 off ?

[Question ID = 10900][Question Description = 141_00_GP4_SEP22_S2_Q41]
1904 [Option ID = 13597]
1914 [Option ID = 13598]
1924 [Option ID = 13599]
1944 [Option ID = 13600]

A wWw N =

37) Who among the following is accredited with the view that 'knowledge without character' is a sin?
forgotferRac 3t A foprol 33 forae &Y yenfia e 3 b "af¥q & frerr sirer ua 3' ?

[Question ID = 10901][Question Description = 142_00_GP4_SEP22_S2_Q42]
1. Plato
wIet

[Option ID = 13601]
2. Jawaharlal Nehru
SIA182 ¢lie] o183
[Option ID = 13602]
3. Sarvapalli Radhakrishnan
JAducedl JEnpIer
[Option ID = 13603]
4. Mahatma Gandhi
FHaIcA alielt

[Option ID = 13604]

38) The acronym 'NHEQF"' is for
‘ool va $ @3y uw' ufravff ez e 3 ?

[Question ID = 10902][Question Description = 143_00_GP4_SEP22_S2_Q43]
1. National Higher Education Quality Framework
SlgloTcT BRIX UJd9lol aaferdt warad

[Option ID = 13605]
2. National Higher Education Qualification Framework



SI9IoICT BRI USJd9lel JaTfeIftbadorel W Tad

[Option ID = 13606]
3. National Higher Education Quantitative Framework
Sl9lelel BRI Bjdolel adifecfea B aradm
[Option ID = 13607]
4. National Higher Education Quality Forum
Sl9IGIc 8RR Ud9lel ddIfeict Biva

[Option ID = 13608]

39) Identify the institution of National Importance among the following:

forgotferlRae 31 A1 ASERI HsTa D A2ATol DI USIGl B3 -

[Question ID = 10903][Question Description = 144_00_GP4_SEP22_S2_Q44]
1. Banaras Hindu University

ol [Bog, feafdermerr

[Option ID = 13609]
2. Aligarh Muslim University

3rctiore ff¥cwr f[eafdemer

[Option ID = 13610]
3. Jawaharlal Nehru University
SIA162 clicl ol faeafencrr

[Option ID = 13611]
4. Rashtriya Raksha University, Gandhinagar
Il Jeir feaferncrr, siift oo

[Option ID = 13612]

40) Ancient literary work such as Banabhatta's Kadambari described good education as knowledge of how many arts (Kalaas)?

Yretiiol A3 e 36 Sl b arvnsiz o1 dIcast 3 fbdoil werisii @ Sitel @) 3l 18 & U 3 AR RN & ?

[Question ID = 10904][Question Description = 145_00_GP4_SEP22_S2_Q45]
16 [Option ID = 13613]
25 [Option ID = 13614]
32 [Option ID = 13615]
64 [Option ID = 13616]

AW N =

Topic:- GP_UGCNET_20SEPT22_SH2_S2_PartC

1)

Read the following passage and answer the five questions that follow.

The UN (United Nations) has lost its sheen in recent times. One example is of its Secretary General Guterres' entreaty for a
global ceasefire to help combat the Coronavirus has gone largely unheeded. His plea for contributions to a $10 billion
emergency coronavirus response plan to help the neediest had been met with commitments totaling just a quarter of the
goal. That response barely justifies the description ‘tepid’, said Mark Lowcock, the top UN relief official. The United Nations,
which has grown from 50 members 75 years ago to 193 members and a global staff of 44,000 was intended at its inception
to provide a forum in which countries large and small believed they had a meaningful voice. But its basic structure gives
little real power to the main body, the General Assembly, and the most to the World War Il victors- Britain, China, France,
Russia and the United States - with each wielding a veto on the 15-seat Security Council as permanent members. The
council is empowered to impose economic sanctions and is the only entity permitted to deploy military force. No permanent
member seems willing to alter the power structure. The outcome is chronic Security Council deadlocks on many issues,
often pitting the United States against not only China and Russia but also against US allies. It is not only on questions of war
and ceasefire where the United Nations is struggling for results. The Sustainable Development Goals, 17 UN objectives
aimed at eliminating inequities that include poverty, gender bias and illiteracy by 2030 are imperiled. An expert belonging
to the Global Policy Forum, a UN monitoring group, told a conference previously that the objectives were "seriously off
track” even before the pandemic, according to a news site that covers the United Nations. UN veterans say multilateralism-
solving the problems together, a tenet of the organisation's charter- increasingly collides with principles in the same charter
emphasising national sovereignty and nonintervention in the country's internal affairs.



forgsifeiRae srerior ool ug siiz AT gesil @ Iaz e :

AYTD A of slcl D aul 3 Uil I ) §t & $ADI UD IGIEWI AYTh ACE, D HBRIFIA J[CIA D DRIGH dRIRA DI Acbol Hdel A D UBLE

@ yfer fara AHSRT BT 53T 39 & Joslol PRIGH arRRA A foracar Bl BrRI-Alsioln 3 rcafias sReeadic caftpil &l sge & forg fora a3GrR 21 10
faferIer sTeR &l MU 3iofipR Astolt i APIGIol Bl &t srdicr &t off, Afdbot s ciga B dact uwp-dlens B3 & yferagarnd & gl & uré

2 YD weg D uep ofief SIfRBRl A clladicd Bl Dol 3- A8 Yferfep 'sreid sreu’ & wdl oIt Al & 75 ad usel IRYep ausg A 50 o1 3IcxA
A frordhl e 3@ a6 @2 193 31 gebl 3 3iR 32131 fara 9 B 44,000 wafarst orRf @t & 53 g ool 6l FeUelT Uas VAT Fl YoTol Dol
@D feru &6l o1$ off, Bdt a3 3z 81 91l @I fararT o fs  srucit mefes sirarst 301 urdst Afdbol, $3 IUSIGOT DI T GIidl I fOIDRI- HERIHT BY
95 3l DA ar<dfd® Iftb Yglel Bl &, 3iI= 3Mfrmior orftp fodiR f[ira g @ Kerar asgi- [{§ea1, <o, \i=d, 39T 3R YD A et A
gA® @l 15 Acxia Jren ufvag 3 Feril A6l & wu d A D PRI6T & AfPR-FaSU Yol Bl 3 BIS off Fearfl A oiftp-aon 3
uf¥ader @& yfer scge yddla ol alar 3 Jeen uldue & urt e yferaser ool ot IffreR 3 3k A6 va A foror 3, KRl 3ifore ad dera
@0l Pl srefafer g 3 ufbvret Aus 3 o e uf¥es 3 sl eI UR oo AWRI A SIeRle Sl 3, RR1E grI: s@if¥®! A, of dad ol wd 31 &6,
afe A ASABRI D AT 91 cpaa b Reerfer Scucet Bt 3 A6 of Dae g 3R JorRET & FIcl D TR # 3, stal AP asg, ufvmEAl & fore
Jiad @2 1 & foreforan, ¢ifdes ugturd 3iiz forgrRar &t srTaoIansii @ 2030 ad Iodctel @ fore AYTd Acsg D 17 Adad faerT ag off 2aad # &
YD AT, DI PR DI dIcll TP oYl AT D GRAR TP AYTh AT, folPRIell Ag-aciieel Uiferil WiRA A g b [A9usT of Uscl Uap Adciol
3 @8l oI fob AR A uscl 8l c1gd "snile WU A U A IAR JW” A IHYTh AT D IHoHdl SIGIPR HloId 3 b HYTP AT AR DI TD IER-
forrar sgueiiRrarar s Arfl RBrer-S[er @2 AHTAT B FATEST BT s A1z B 3ol Rigidl A evara 3iar 8, Rrorl s Fegar iR 391 & sriafds
FEIcH 3 3ETFAS UR SR foR SR 3

The response for the UN appeal for contribution to fight the corona pandemic reflects its

PRIC HEINL A Had @ e APIcrel Bl &l Igep e, &I ardier Adeh yferfepen o= yferfeifera ot 3 :

[Question ID = 10905][Question Description = 146_00_GP4_SEP22_S2_Q46]
1. Positive image

JADRID B

[Option ID = 13617]
2. Global reach

dffq uga

[Option ID = 13618]
3. Waning influence

Tedr gorra

[Option ID = 13619]
4. Neutrality

daczeAdr

[Option ID = 13620]

2)

Read the following passage and answer the five questions that follow.

The UN (United Nations) has lost its sheen in recent times. One example is of its Secretary General Guterres' entreaty for a
global ceasefire to help combat the Coronavirus has gone largely unheeded. His plea for contributions to a $10 billion
emergency coronavirus response plan to help the neediest had been met with commitments totaling just a quarter of the
goal. That response barely justifies the description 'tepid’, said Mark Lowcock, the top UN relief official. The United Nations,
which has grown from 50 members 75 years ago to 193 members and a global staff of 44,000 was intended at its inception
to provide a forum in which countries large and small believed they had a meaningful voice. But its basic structure gives
little real power to the main body, the General Assembly, and the most to the World War Il victors- Britain, China, France,
Russia and the United States - with each wielding a veto on the 15-seat Security Council as permanent members. The
council is empowered to impose economic sanctions and is the only entity permitted to deploy military force. No permanent
member seems willing to alter the power structure. The outcome is chronic Security Council deadlocks on many issues,
often pitting the United States against not only China and Russia but also against US allies. It is not only on questions of war
and ceasefire where the United Nations is struggling for results. The Sustainable Development Goals, 17 UN objectives
aimed at eliminating inequities that include poverty, gender bias and illiteracy by 2030 are imperiled. An expert belonging



to the Global Policy Forum, a UN monitoring group, told a conference previously that the objectives were "seriously off
track” even before the pandemic, according to a news site that covers the United Nations. UN veterans say multilateralism-
solving the problems together, a tenet of the organisation's charter- increasingly collides with principles in the same charter
emphasising national sovereignty and nonintervention in the country's internal affairs.

forgotferRae sterior o ud siiz AFERIA Yosil B Iar i :

YD ASE ol BIcT D adl A UGl ITHT Al $F & SHDI GD IGIBAT AYTD AT D HSRIRIA 3[¢3A D DRI dRIRA DI Adol Adeh Age D BB

@ gfer fra AAGRI DI 531 373 & Ioslol PRIG aRRA A forucol bl PRI-Alston 3 P SReadic =aftpdl &l e & fere fara 3grR A 10
faferrer sTeR &t smurd sieyfipan Aston # AMeTcTer W0t &t srdier &t off, cifdper s g & Baer va-diens A 6 yferagam & gt ar urd

3 I weg, D uep ofie 3if2reprdt TS cllawmics oI Bl - As Yfeifdpan ‘sria e’ 8 wdl o Adcdt 3 75 ad uscl Hgep g 3 50 91 A
¥ fRrorehl e 3@ a6 B2 193 31 gobl 3 3iR 333l fara eR & 44,000 wafardt orl w2 & 331 g FsIoel &l Feruei Ue VAT 3 Ygrol Bl
@ fere i o1 off, BRIl a3 3iik 81 J9ii T farart on 6 A smachl el sirarst 36T Urds! Afdbel, $3 PTG DI ¢l GIdl IR fOIDPRI-HARIT BY
5 8l ®d ar«dla® IRP Yglel &l 3, 3ii? sifermior oiftp &l fava g @ oI reci- [{eot, <o, w1, % 3R AYeD I rlor A
gA® @I 15 AR Jren uftys 3 Faril Ac=l & U 3 A D GRIBT D ARPR-FABU Yelel Bl 8 DIS ol FARM A 91kp-Izaon i
uf¥ader @ gfer scgd Yedla ol alar 3 JRe ufeus @ ura i Yferaser cemel @I PR 3 3R A6 b A fofdr 3, Rl Jifore & dotra
o1 Y srggdfer yra 3 ufvmar ws 2 o5 e ufdug 3 sl Pl UR a3 d FERT A SIfcRIE S 8, R YR s1aif¥et A, of dad el wd A &,
afed D ASANBPRIL @ A1 31t capera &I Rrefer 3cusot Bl 3 A8 of Dact g MR YgRIA D IRIcl D ar 3 3, Siel Ay Usg, ufeviEdl D fere
Jad @2 1 3 foreforar, difdres ugtura iz forgrar &t srRweIait & 2030 Ad Iodgclel @ o1 AP weg B 17 Jaa ARt ag off TR 3 &
YD S, DI BaAR P! Alell TDH ST ATST D IURIR TP AYh AuSe, PRI Aag-sciiace diferil BrRa A ey v ISt of Uscl Ud FFACeT
3 a1 a1 fob FBEId A usd 3 cgAa "oz WU A ucdH A IAR ST A AP WS D 3ol SIGIDR HIGIA 3 [ YD AT AR DI TP LR~
forp1 sgugiR@amEarc Al [FeT-Je1 B2 AN D AL DI 5l AR D Iol Rigidl A cpia Bl 3, rordl ASERT AFYYAT iR $9I D Ificflead
A 3 ETALU Uz SR fSm s 3

What obstructs the United Nations from becoming a real global body?

YD A, D TP dRAIDP dffam fOrPRI Jotol 3 TRl aren 3 ?

[Question ID = 10906][Question Description = 147_00_GP4_SEP22_S2_Q47]
1. The power of Security Council to deploy military force

JRe uldg bl Iowr et Dt dorredt bF orfep

[Option ID = 13621]
2. Its limited power to impose economic sanctions

32t anffep yferder errol bt 2fifdie oifep

[Option ID = 13622]
3. Considerable expansion as a huge organisation

farorret JieIGel @ U I DId! fFar

[Option ID = 13623]
4. The veto power of the permanent members of the Security Council

3IRe uldve @ Frf AR @1 dicl-siffor
[Option ID = 13624]

3)

Read the following passage and answer the five questions that follow.

The UN (United Nations) has lost its sheen in recent times. One example is of its Secretary General Guterres' entreaty for a
global ceasefire to help combat the Coronavirus has gone largely unheeded. His plea for contributions to a $10 billion
emergency coronavirus response plan to help the neediest had been met with commitments totaling just a quarter of the
goal. That response barely justifies the description 'tepid’, said Mark Lowcock, the top UN relief official. The United Nations,
which has grown from 50 members 75 years ago to 193 members and a global staff of 44,000 was intended at its inception
to provide a forum in which countries large and small believed they had a meaningful voice. But its basic structure gives
little real power to the main body, the General Assembly, and the most to the World War Il victors- Britain, China, France,
Russia and the United States - with each wielding a veto on the 15-seat Security Council as permanent members. The
council is empowered to impose economic sanctions and is the only entity permitted to deploy military force. No permanent
member seems willing to alter the power structure. The outcome is chronic Security Council deadlocks on many issues,



often pitting the United States against not only China and Russia but also against US allies. It is not only on questions of war
and ceasefire where the United Nations is struggling for results. The Sustainable Development Goals, 17 UN objectives
aimed at eliminating inequities that include poverty, gender bias and illiteracy by 2030 are imperiled. An expert belonging
to the Global Policy Forum, a UN monitoring group, told a conference previously that the objectives were "seriously off
track” even before the pandemic, according to a news site that covers the United Nations. UN veterans say multilateralism-
solving the problems together, a tenet of the organisation's charter- increasingly collides with principles in the same charter
emphasising national sovereignty and nonintervention in the country's internal affairs.

forgsifeiRae srerior ol ug siiz AT gesil @ Iaz e :

AYTD A of sl D aull 3 Uil I ) §t & $ADI UD IGIEWI AYTh ACE, D HBRIFIA JCIA D DRI dRIA DI Acbol AHdel A D B

@ gfer fora AISRI b1 53T 3 & Ioslol PRI dRRA A forucol bl BRI-Alsion 3 il sRexadic caftpl &l dce & fere fora IR A 10
faferror s1eR 6t smurd siolfpAT AsTolr 3 APITol w2t bt srcdier 6t oft, Afdpor s ciga @ dact wp-diens 3 bt yferagam 3 gt ar uré

2 YD weg, D uep ofief SIfBrl A clladics Bl Baoll 3- As Yferfep "sreid sreu’ & dl oIt Al & 75 ad usel IRep asg A 50 o1 IcxA
A frordhl e 3@ a6 @2 193 31 gebl 3 3ik 32131 fara 9 B 44,000 wafarst orRf o & 53 g 1ol 6l FeTUell Uas VAT Fl YoIol Dol
@D feru &bl a1$ off, BrR1dl a3 3z 81 391l @t fararT o s  srucil mefes sirarst 301 urds! Afdbol, $3 IUSIGOT DI eI Gl TN fOIDRI- HERIHT DY
95 8 DA aRAfde Ifth Ygelel Bl 3, 31IR MerDmion 91ftp fGdlRn faa Jg o fasrar Ausl- o, iol, \iRa, 3 3R JAYTD ASA 3EIfeDr d
gA® @l 15 Jcxia Jren ufvag 3 Feril A6l & wu d A & PRIsT & AfPR-FaSU Yol Bl 3 D15 off Fearfl A oifkp-don 3
uf¥ader @& yfer scga yddia ol alar 3 Jgeen uldue @ urt snf¥fe yferaser ool o IffreR 3 3k a6 va A foror 3, KR 3ifore ad derra
@l Dl sretafer gra 3 ufbvret s 3 e e uf¥es 3 soie eI UR oo AWRI A IRl Sl 3, RR1E grI: @if¥®! A, of dad ol wd 31 &6,
afe 3D ASABRIT D A1 91t cpaa &t Reefer Icucet Bt 3 A6 of Daet g MR JorRET & FIcl D TR & 3, stal AP asg, ufvmEAl & fore
Jdad o2 1 & foreforar, cifSie usturd 3iiz forgrar &t srEmeARi & 2030 as Sedcle & e A aeg D 17 Jad Rt oe off TR d &
YD AT, DI PR D] dIcll TP oYl AT D GRAR TP AP AT, folPRIell Adg-aciidel Uiferil BRA A g U [yt of Uscl Uap HAdciol
3 sl o1 fob HBIART A uscl 8l a1 "Il WU A U A IAR W A IHYTP AT D IoHdl SIGIPR HIGI 3 [ HYTD AT, AR DI TP IER-
forman sgueiiRiamars Al Brer-Sar w2 FIRAT S AdHTEneT BT 32l AT B Iof Rigidl A cpra diar 3, Rrordl IsdRI Feygar iz J91 D sriaf¥es
Jrctl 3 TSy UR Sk 3 s 3

The Security Council deadlocks are due to

Jqzel uldye 3 sIfeRIel @I PRI 3 :
[Question ID = 10907][Question Description = 148_00_GP4_SEP22_S2_Q48]
1. Lack of reforms in the UN power structure
YD A, Dl AP D Il I JPURT DI 3T
[Option ID = 13625]
2. Internal differences among member nations
AGHI-Soll D dfa stiale aAqadc

[Option ID = 13626]
3. The US stance against all others

219ft 3o B Raemw @b 3

[Option ID = 13627]
4. Global conflicts involving US, Russia and China

YD ASA NI, A wd dior A AdiferT Affaas et
[Option ID = 13628]

4)

Read the following passage and answer the five questions that follow.

The UN (United Nations) has lost its sheen in recent times. One example is of its Secretary General Guterres' entreaty for a
global ceasefire to help combat the Coronavirus has gone largely unheeded. His plea for contributions to a $10 billion
emergency coronavirus response plan to help the neediest had been met with commitments totaling just a quarter of the
goal. That response barely justifies the description 'tepid’, said Mark Lowcock, the top UN relief official. The United Nations,
which has grown from 50 members 75 years ago to 193 members and a global staff of 44,000 was intended at its inception
to provide a forum in which countries large and small believed they had a meaningful voice. But its basic structure gives
little real power to the main body, the General Assembly, and the most to the World War Il victors- Britain, China, France,



Russia and the United States - with each wielding a veto on the 15-seat Security Council as permanent members. The
council is empowered to impose economic sanctions and is the only entity permitted to deploy military force. No permanent
member seems willing to alter the power structure. The outcome is chronic Security Council deadlocks on many issues,
often pitting the United States against not only China and Russia but also against US allies. It is not only on questions of war
and ceasefire where the United Nations is struggling for results. The Sustainable Development Goals, 17 UN objectives
aimed at eliminating inequities that include poverty, gender bias and illiteracy by 2030 are imperiled. An expert belonging
to the Global Policy Forum, a UN monitoring group, told a conference previously that the objectives were "seriously off
track” even before the pandemic, according to a news site that covers the United Nations. UN veterans say multilateralism-
solving the problems together, a tenet of the organisation's charter- increasingly collides with principles in the same charter
emphasising national sovereignty and nonintervention in the country's internal affairs.
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The outcome of power conflicts inside the UN is
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1. Slow termination of wars

gl 1 effaft arfer 3 o Stomr

[Option ID = 13629]
2. Tepid response to SDGs
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[Option ID = 13630]
3. No positive contribution for human welfare
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[Option ID = 13631]
4. Delayed aid to pandemic affected countries

HBARL A Y Soll Dl &2 A ABRIA
[Option ID = 13632]

5)

Read the following passage and answer the five questions that follow.

The UN (United Nations) has lost its sheen in recent times. One example is of its Secretary General Guterres' entreaty for a
global ceasefire to help combat the Coronavirus has gone largely unheeded. His plea for contributions to a $10 billion
emergency coronavirus response plan to help the neediest had been met with commitments totaling just a quarter of the
goal. That response barely justifies the description ‘tepid’, said Mark Lowcock, the top UN relief official. The United Nations,



which has grown from 50 members 75 years ago to 193 members and a global staff of 44,000 was intended at its inception
to provide a forum in which countries large and small believed they had a meaningful voice. But its basic structure gives
little real power to the main body, the General Assembly, and the most to the World War Il victors- Britain, China, France,
Russia and the United States - with each wielding a veto on the 15-seat Security Council as permanent members. The
council is empowered to impose economic sanctions and is the only entity permitted to deploy military force. No permanent
member seems willing to alter the power structure. The outcome is chronic Security Council deadlocks on many issues,
often pitting the United States against not only China and Russia but also against US allies. It is not only on questions of war
and ceasefire where the United Nations is struggling for results. The Sustainable Development Goals, 17 UN objectives
aimed at eliminating inequities that include poverty, gender bias and illiteracy by 2030 are imperiled. An expert belonging
to the Global Policy Forum, a UN monitoring group, told a conference previously that the objectives were "seriously off
track” even before the pandemic, according to a news site that covers the United Nations. UN veterans say multilateralism-
solving the problems together, a tenet of the organisation's charter- increasingly collides with principles in the same charter
emphasising national sovereignty and nonintervention in the country's internal affairs.
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The UN's ambiguous stance on many global issues is because of
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1. Financial constraints

faretter srfdrera

[Option ID = 13633]
2. Rigid tenets in the UN charter
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[Option ID = 13634]
3. Multilateralism vs National Sovereignty
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[Option ID = 13635]
4. Its seamless expansion
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[Option ID = 13636]









